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εk �
�	�� �� ��
������
 �

� �����	�
 eV

c†kµ (	�
���
 ���	
��	 ��	 �

� �����	�

k (	���
� ����
���� �
!�
����	 M−1

µ >
�
���� ��

��� 
����	� 
��� σ� sz

σ '
��� �
�	����
Nc E����	 �� ��
������
 �

� ��
���
f †

iµ 2����
� 2
�����
�

 �	�
���
 ���	
��	
D 2
�� �

������ eV
J )��
����
 ����

�� ������
� eV
S )��
 ���	
��	
ρ(ω)  �
���� �� ��
��� 1/eV
J � JK #�
�� ����

�� �
��	
����
 eV
kB =�����


�� ��
��

� = 86 µeV/K
β "
!�	�� �����	
��	�� 1/(kBT ) 1/eV
TK #�
�� �����	
��	� K

kF %�	�� �
!�
����	 M−1

vF %�	�� !������� m/s
vc� vs :������� �� ��
	��N���
 ����� m/s
RW �����
�� 	
���
i, j F
����� ���� �
�����
t, ti,j ��

�� �����
�� �!�	�
� �
���	
� eV
Q, q (�
	�� ��

��� 
����	� qi = ni − 1
I "�����
 ���	
��	
ξi E
��� ���
�	
P '
	���
L F�
�
	 ���� �� ��� ������ m
εd �
�	�� �� ����	��� �	���
� eV
δ  �!�
���
 �	�� ��� ������	�� ���
�� δ = εd + U/2 eV

d†
iµ (	�
���
 ���	
��	 ��	 ����	��� �����	�


U (�
	�����
	�� ������
�� (������ ��		��
���
 �
�	�� eV
G0 (�
����

�� ��

���� G0 = 2e2/h A/V = S
g  ���
���
���� ��
����

��� g = G/G0

Vk "���	���O��
������
��

� ���	����
���
 eV
∆, Γ ��

�� 	
��� 	���


�� �
�������� eV
Gr

ij(t) @��
	��� G	��
�� ��
����

Aij(ω) )����	
� ��
����
 1/eV

C
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 (�
!�
���

� �
��

χcharge "���	��� ��
	�� ��������������
χspin, χimp "���	��� �
�
���� ��������������
Simp "���	��� �
�	���
Z '
	�����
 ��
����

γ F�
�
	 ���P���
� �
 ��
� �
�
����� C = γT
g G�	��
�
���� 	
���
µB =��	 �
�
���
 = e�/2me

Λ E@G ����	����
���
 �
	
����	
N E@G ���	
���
 
����	
E �
�	�� ev
ε  ���
���
���� �
�	��� ε = E/D
b )����	�� �	�
��
�
� �
	
����	
Σ(ω) )�����
�	�� eV
Skµ,k′µ′ )�
���	�
� �
�	��
z, Z 1�
���
	����� ������
n �����	�
 ��
���� m−3

K '���
��
� ��
���	�
� 
�������� eV
δqp )�
���	�
� ��
�������� rad
τ )�
���	�
� ���� s
T ∗

1 F��
������
� ��	�
���
 �����	
��	� K
JRKKY ������!� ���
 ����

�� ������
� eV
T ∗

F %�		��
�
���� �	��	�
� �����	
��	� K

T
(1)
K � T (2)

K H���	� ����	 #�
�� �����	
��	� K
A $������	� �
	
����	
T∆ E%F�%F �	�����!�	 �����	
��	� K
I I��

���
�J ��		�
� A
V I=�
�J !���
�� V
q %

� ��	� �
���	
B >
�
���� &��� T

F���	
� ��� �� � = 1 

� kB = 1 ������ �� �
��� �� �
��� ������
��� �
 ��
��	 ��	�!
���
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a) Microscopic Hamiltonian b) Hubbard model
(tight-binding lattice)

c) Heisenberg model
(spin lattice)

d) Effective model describing
spin density waves
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Results

Postprocessing
Perl, Mathematica
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 ������


�� ��


�� �	������� ��� ����� 
	� 
���� �� ��� �����
 ��
�
 �

�
�� ���	
���
� �
� �	�� �
�� ��
������
 �

�� ��� �	�
���
 ���	
��	� ��	 ��� ����
� �

�

	� ��
���� �� b†µ = f †

N+1,µ,2� ��� /- ��
��� ��
� ��	� ��� %��3 ��
�� �� ��� ��� 
����

���� ����� 
	� 	��	���
��� �� ��� /4 ��
��� ��!�
 �
 �
��� ,�/��

�� 
��� 
��� 
 �	���	�����
 ��	 ��
�	
��
� 
 �
��� ���� ���� ��&
�� Q 

� S ��	 (N +1)�����
�����
 ��
�
 ��!�
 ��� ����
��
��� �� ��� N����� �����
 ��
�
 �	�� ��� �	�!���� ���	
���
�
���� �� �
���� 
����������� ���
� ��� 

���
	 ����
��� 
����	
 I(�������G�	�

 �����
&���
��J��
��� F�� Fi(QS) ��
��� ��� �����
�� Q̃S̃ 
� ��
�� N ���� �� ��
��	��� ��
���



���� ������	��� ��
 ����� �����	������ D0

|QSSzri〉N+1 ���� ���� ��&
�� Q, S, Sz 
� ��
�� N + 1� �
��� i 
����	� ��� �������� �
��
�� 
���
� ��� 

���
	 ����
�
 �������	 Ii = 1, . . . , 4 ��	 �
����


�� �
��� i = 1, . . . , 16
��	 ������


�� �
���J� ����� r 
����	� ��� ��
������!� ����
��
��� �
 ��� �����
�� Q̃S̃ 
�
���� N � %�	 ��
!�
��
��� �� 
��� ��&
� fµ

i (Sz) = S̃z = Sz − µ� ��� ���
 �	�6�����
 S̃z ��	
µ���	� �
 ��� ���	�����
� 

� gµ

i (SSz) = S̃S̃z� ���� ���� ���	���

� 
��
���
 ���
��������
�� 
	� 
��� �� �	��� ��� �	���	�����
 
�

|QSSzri〉N+1 =

S(i)∑
µ=−S(i)

〈〈〈
gµ

i (SSz);;;S(i), µ|||SSz

〉〉〉 |Fi(QS)fµ
i (Sz)r〉N ⊗ |i, µ〉, I,�/4J

���	�
〈〈〈
S1m1;;;S2m2|||Sm

〉〉〉
��
���� ��� (�������G�	�

 ���P���
� ��	 6��
�
� ���
� S1 

�

S2 �
�� ���
 S� |〉N+1 

� |〉N ��
��� ��
��� ��	 (N + 1)����� 

� N����� �����
 ��
�
� |i, µ〉

	� ��� ��
��� �
 ��� 
���� ����I�J �
���
��� �
 �
��� ,�/ 

� S(i) = s� ��� ���
� ���

��

��� 
����	 �� ��� |i, µ〉 ��
��� ��� 	���� ��	 ��	��
� ��� 
�� �����
��� 
	� ��!�
 �

�
��� ,�.� "
 QE@G F6���6


R� ����� �
���� �

 �� ���
� �
 &��� ��� �)��*'����� 

�
��� �+��*'����� �	� ��
�	
���� �
 ��� �,*'������ $� 

 ��
����� i = 2 

� i = 3 �
 ���
�
����


�� �
�� ��		����
� �� ��� ����	�
� �
�� �� ���
�
�
� ���
� ���
 S �� 
���
� 

���
�1

2
��6���� �����	 �	�� S̃ = S − 1

2
�	 �	�� S̃ = S + 1

2
� "� ������ �� 
���� �
 �
���
�

��
� 
 ��
���� 

� 
 �	����� 
�!�	 ������ �
�� 
 ��
���� ��
�� I��
� ����� �� 
 !���
���
 ��
��� �	�

��� �
���
����J� ���� ���� �� �
3�
 �
�� 
����
� ���
 ��
��	����
� ��
�� i = 10
�
 ��� ������


�� �
��� S = 0 �� ���
 ��	�����
�

"!�!� ��
���	����
 �� (I, S) ����� ( �������� ���� ��	

���
 ��� U(1)charge ��
��	!
���
 �� ��
	�� ������	� �

 �� ����
��� �� ��� ���� SU(2)iso

������
 ������	�� 

 
������

� �������
���
 
	���� ��� �� ��� ��
�� �
���	 �
 ��� ��&
����

�� ��� ������
 ���
 �����
�
� �� ��� ��
��	 ���	
��	 I����� ��		����
�� �� ��� 


����
�
���
 ���	
��	J� ��� �	
�3��� �� �	�
���
 

� 


����
���
 ���	
��	� ���� �� ���	�����
���
� ��� �		�������� �
�	�� �����
��

〈I ′I ′
zS

′S ′
zr

′|f †
i,µ|IIzSSzr〉 =

〈〈〈
IIz;;;

1
2

1
2
|||I ′I ′

z

〉〉〉〈〈〈
SSz;;;

1
2
µ|||S ′S ′

z

〉〉〉〈I ′S ′r′‖fi‖ISr〉 I,�//J



�

〈I ′I ′
zS

′S ′
zr

′|fi,µ|IIzSSzr〉 = (−1)i(−2µ)
〈〈〈
IIz;;;

1
2
,−1

2
|||I ′I ′

z

〉〉〉〈〈〈
SSz;;;

1
2
,−µ|||S ′S ′

z

〉〉〉〈I ′S ′r′‖fi‖ISr〉.
I,�/.J

2�	� i �� ��� ���� �
��� ����� �
3�� �!�
 �	 ��� !
���� �
 ��� �
��	���
� ���
	���� �
�����
I��� )��� .�, �
 ��� ������
 ������	�J� $� ��� �	����� �� 
������ �� �� ���
 

� ������

����	����� 
�����	 Sz 
�	 Iz ��
� 

� 	��� �
 ��� ��
��

���
���
 �� HN+1� ��� �
��� ��
���
��	 ��� 
���� ���� �� ��� �����
 ��
�
 
	� ��!�
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 �
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��� �
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	�

� �����
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	� ��
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���� �� ��� �
�� �� (Q, S) �
��� �
 ���
�	�!���� ���������
� $�
�
 Fi(IS) ��
���� ��� �����
�� ĨS̃ 
� ��
�� N ���� �� ��
��	���



D- ������	 �� 	���	���������� �	���

i Q̃ S̃ (q, s,k)

/ Q + 1 S (−1, 0, 1)
. Q S − 1

2
(0, 1

2
, 1)

, Q S + 1
2

(0, 1
2
, 1)

D Q − 1 S (1, 0, 1)

��� ��
 �����
�

i Q̃ S̃ (q, s,k)

/ Q + 2 S (−2, 0, 1)
. Q + 1 S − 1

2
(−1, 1

2
, 1)

, Q + 1 S + 1
2

(−1, 1
2
, 1)

D Q + 1 S − 1
2

(−1, 1
2
, 2)

0 Q + 1 S + 1
2

(−1, 1
2
, 2)

- Q S (0, 0, 1)
+ Q S (0, 0, 2)
5 Q S (0, 0, 3)
C Q S − 1 (0, 1, 1)
/4 Q S (0, 1, 1)
// Q S + 1 (0, 1, 1)
/. Q − 1 S − 1

2
(1, 1

2
, 1)

/, Q − 1 S + 1
2

(1, 1
2
, 1)

/D Q − 1 S − 1
2

(1, 1
2
, 2)

/0 Q − 1 S + 1
2

(1, 1
2
, 2)

/- Q − 2 S (2, 0, 1)

��� ��� �����
��

�
��� ,�.* )����
��� Fi(QS) = (Q̃, S̃) 

� �
��� ��
��� ��	 ��� 
������

� ���� ���� ��
��
��	��� i�� �����

���
 �� �
��� ��
��� ��	 ��� 
�� ���	
���
 ��	 I1�)J �
���

(i, s) )�
��� (k)

(1
2
, 0) a†

↓a
†
↑

(0, 1
2
) a†

↑

��� ��
 �����
�

(i, s) )�
��� (k)

(1, 0) a†
↓a

†
↑b

†
↓b

†
↑

(1
2
, 1

2
) a†

↑b
†
↓b

†
↑� a†

↓a
†
↑b

†
↑

(0, 1) −a†
↑b

†
↑

(0, 0) − 1√
2

(
a†
↓a

†
↑ + b†↓b

†
↑
)
� 1√

2

(
a†
↓b

†
↑ − a†

↑b
†
↓
)

��� ��� �����
��

�
��� ,�,* =
��� ��
��� ��	 
������

� ���� �
 ��� ������
����
 (I, S) �
���� =��� ��
����
��
i 

� s 
	� ��� ��

��� 
����	� �� ��
	�� 

� ���
 �
 ��� 
���� ����I�J� ����� k �
�����
����	�
� ��
��� ���� ��� �
�� (i, s)�



���� ������	��� ��
 ����� �����	������ D+

i Ĩ S̃ (i, s,k)

/ I − 1
2

S (1
2
, 0, 1)

. I + 1
2

S (1
2
, 0, 1)

, I S − 1
2

(0, 1
2
, 1)

D I S + 1
2

(0, 1
2
, 1)

��� ��
 �����
�

i Ĩ S̃ (i, s,k)

/ I − 1 S (1, 0, 1)
. I S (1, 0, 1)
, I + 1 S (1, 0, 1)
D I − 1

2
S − 1

2
(1

2
, 1

2
, 1)

0 I + 1
2

S − 1
2

(1
2
, 1

2
, 1)

- I − 1
2

S + 1
2

(1
2
, 1

2
, 1)

+ I + 1
2

S + 1
2

(1
2
, 1

2
, 1)

5 I − 1
2

S − 1
2

(1
2
, 1

2
, 2)

C I + 1
2

S − 1
2

(1
2
, 1

2
, 2)

/4 I − 1
2

S + 1
2

(1
2
, 1

2
, 2)

// I + 1
2

S + 1
2

(1
2
, 1

2
, 2)

/. I S − 1 (0, 1, 1)
/, I S (0, 1, 1)
/D I S + 1 (0, 1, 1)
/0 I S (0, 0, 1)
/- I S (0, 0, 2)

��� ��� �����
��

�
��� ,�D* )����
��� Fi(IS) = (Ĩ , S̃) 

� �
��� ��
��� ��	 ��� 
������

� ���� ���� ��
��
��	��� i�� �����

���
 �� �
��� ��
��� ��	 ��� 
�� ���	
���
 �
 ��� (I, S) �
���

��
��� |IIzSSzri〉N+1 
� ��
�� N + 1� �� 
��� ��&
� fα
i (Iz) = Ĩz = Iz − α� fµ

i (Sz) = S̃z =
Sz − µ� gα

i (IIz) = Ĩ Ĩz 

� gµ
i (SSz) = S̃S̃z� ��� 
�� �
��� �� ���
 ��	��� ���
� 
 ������


�����
���
 �� ��� 

���
	 ����
��� 
������
 	����*

|IIzSSzi〉N+1 =

I(i)∑
α=−I(i)

S(i)∑
µ=−S(i)

〈〈〈
gα

i (IIz);;;I(i), α|||IIz

〉〉〉〈〈〈
gµ

i (SSz);;;S(i), µ|||SSz

〉〉〉
× |Fi(IS)fα

i (Iz)f
µ
i (Sz)r〉N ⊗ |i, µ, α〉.

I,�/,J

I(i) 

� S(i) ��		����
� �� i 

� s ��

��� 
����	� �� ��
��� |i, µ, α〉� ��� 	���� ��	
��	��
� ��� ��
��� 
	� ����
	���� �
 �
��� ,�D�
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��	��� �� &
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HN = ΛN/2

[
Himp + HC +

N∑
n=0

∑
µ,α

Λ−n/2ξn

(
f †

n,µ,αfn+1,µ,α + 2��
)]

, I,�/DJ

�� ��
� ��� ���� 2
�����
�

 �� ��!�
 �� ��� �����

H = lim
N→∞

(
Λ−N/2HN

)
. I,�/0J

��� �
���	 ΛN/2 �
 ��� ��&
����
 �� HN 	���
��� ��� �
�	�� ��
�� �� ��
� ��� ��
����� ����
�
���
���� �����
���
 �
�	�� �� HN ������� �� �	��	 O(1)� "
 ���� ��
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����
�
�� ��� 	���
��
� �� ��� &���� �
 ��� ����
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HN+1 = R {HN} =
√

ΛHN +
∑
µ,α

ξN

(
f †

n,µ,αfn+1,µ,α + 2��
)
. I,�/-J

��� �
�	���� 
	� 	���
��� ��
√

Λ 

� �
� 
�� ���� I�
����


�� �	������J �	 ��� 
�� �����
I������


�� �	������J �	�� ��� �����
 ��
�
 
	� 
��
���� �� ��� ������� ��� %��� ,�C�
���� 	���	���
 	��
���
 �� ��� ��
�
��
�
� 
����� �� ��� E@G��
���  �� �� �!�
���� �������
��� @G �	

���	�
���
 �� 
���
��� ��&
�� �� ��� ��
������!� E@G ���	
���
�*

HN+2 = R2 {HN} , I,�/+J
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� ��� 	�
�	�
���
���
 L�� �
 ��� E@G �� 	��	���
��� �� ��� �����
�� �� 2
�����
�

�

. . . → HN−2 → HN → HN+2 → . . . I,�/5J
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√
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 	�
�	�
���
���
 �	��� �� 
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���
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�� ��
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���
 �� Q����R I�
���	
��� ���J� �����	 �� ���
� ��
	��
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�
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����
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���
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 �
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���
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Impurity
region
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J,�
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Iteration 3

a) One-channel case

Impurity
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1

0 1 2 3J ,
1 ��

Iteration 0
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Iteration 3

b) Two-channel case
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� �� ��� E@G �	�����	�*
�
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�� ��
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���� ��	�
� �
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����	��� ��� ����	��� 	����
 �� 
 ��
�3 ���* 
�� ��
� �� 	����	�� 
	� ��� ����
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�����
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�� Himp + HC� 
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�
�	�� �����
�� �� ��� �	�
���
 ���	
��	� ��	 
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 HN ����	���� ��� ������� 
� ��� �
�	�� I�����	
��	�J ��
��

TN ∝ D

kB
Λ−N/2/β̄ I,�/CJ

�	� ����!
��
���� 
� ��� ��
��� ��
��

LN ∝ β̄ΛN/2/kF . I,�.4J

2�	� β̄ �� 
 �
	
����	 �� �	��	 O(1)� ��� ��		����
��
� �����
� �
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R ��
betabar� "
 �� �
����
���
� " �����
��� ���� β̄ = 0.46 �	 β̄ = 0.75� ��� ��
�� ��&
����
 ��
TN ����
�� �
 ��� ����	����
���
 ������*

TN =
D

kB

1

2
(1 + Λ−1)Λ−(N−1)/2/β̄, ��	 �����������,

TN =
D

kB

1

2
(1 + Λ−1)Λ−(N−z)/2/β̄, ��	 ������������,

TN =
D

kB

1 − Λ−1

ln Λ
Λ−(N−z)/2/β̄, ��	 ����������.

I,�./J

%	�� ���� I,�/CJ 
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 �
� ��
� ��� ���� �� ��� ������ �� &
��� 
� 
�� ������
%	�� ���� �� ������� ��
� E@G ��!�� ���������� �����	
� "� ������ �� 3��� �
 ��
� ��
� ���
�	��
� ��
�� ����
�	
�� �
 
 &
�������� �����	�� �� ���
�
�� �� �
3�
� ��� ����� T → 0
&	��� ���
 L → ∞� =� �
3�
� &	�� L → ∞ 

� ���
 T → 0� 
 ����	�
� �	��
� ��
��
����
�	
�� �

 �� ���
�
��� ��� ��� ������ �� 
�� �������
�����Y 9
� ������ �� 
�
	� ��
���� ���
 ����
	�
� ���� 	������ ���
�
�� �� ��

� �� ��

����&��������	����
� �������
�
 ��� L → ∞ ������

9
� ����� ������ ��
� ��� �� ��� ����
�
��
� ���	�
�� �� �����
� �
	
����	� �� ����� ��
�������� �� �	�
� ��� ��������!� ����� �
 ��� �����
 ��
�
 �� ��	��	�
���
 ����	�� ���� ��

�� ��� �
��*�
 ���
 
���
� ��� (N + 1)�� ����I�J �� 
 ��
�
 �� N ������ ��� ������
� ��
�	��	 Λ−N/2 �� 
 ��	�
� ��	��	�
���
 ��	 ��� ������ ����
��
��� �� ��� N����� ��
�
 �����

	� 
��� �
 ��� �
�	�� ��
�� �� Λ−N/2� �� ���� 
�� 
 
�� ���� �� ��	��	��
� 

 ��
��
��
��

���
���
 �� 
 �
�	�� HN+1�

9
� E@G ���	
���
 I,�/-J ��
����� �� ���
� ��� ��
��� �	�� �	�!���� ���� �� ��
��	��� ���
2
�����
�

HN+1 I���.��/������- 	����
�J� ���
 ��
��

����
� �� 
���	��
��� I�����������
	����
�J� ��� ���� �
��	�
���
 
���� ��� ������ 
� ���� N �� ��
�
�
�� �
 ��� ����
��
��� ��
HN 

� �
 ��� �		�������� �
�	�� �����
�� 〈‖fN‖〉 I��
�� '���'� �J� ���� �� ���
	�� 
 ����
��	� ���
���� ����	�����
 ����
	�� �� 
 ��
�� ��� �� ������
� �
	
����	� ���� �
 ��� ��
�
!�
���

� @G I��
��
�J 
��	�
��� ��� 2
�����
�

 �� �	����
 �
 ��� ��	��� �	����� �
���
|QSri〉N+1 ∼ |QSr〉⊗i T��	� �� ��
����	 ��� �
�� �� I1�)J �
���� ��� )��� ,�0 ��	 ����	 �
���U�
���	���	� ��� 2
�����
�

 �
�	�� �
3�� ��� ��	� �� 
 ����3��
�	��* ��
��

� ����3� 
	�
��
��

� �
�	����� ��� ��
��

� �����
�� ���
� ��� 	���
��� ����
!
���� �� ��� ��
��� |QSr〉



��!� 	� �	�����	������ ��
 ���	����� 
�������������� 0/

i i′ ���P���
�

/ . /
/ , /
. D −

√
2S√

1+2S

, D
√

2S+2√
1+2S

��� ��
 �����
�

i i′ ��


�� ���P���
�

/ . � 1
/ , � 1
/ D 
 1
/ 0 
 1

. - � −
√

2S√
1+2S

. + 
 −
√

S√
1+2S

. C 
 1

. /4 

√

1+S√
1+2S

, - �
√

2(1+S)√
1+2S

, + 

√

1+S√
1+2S

, /4 

√

S√
1+2S

, // 
 1

D + � −
√

S√
1+2S

D 5 
 −
√

2S√
1+2S

D C � −1

D /4 � −
√

1+S√
1+2S

0 + �
√

1+S√
1+2S

0 5 

√

2(1+S)√
1+2S

0 /4 � −
√

S√
1+2S

0 // � −1

i i′ ��


�� ���P���
�

- /. 
 1
- /, 
 1
+ /. � − 1√

2

+ /, � − 1√
2

+ /D 
 − 1√
2

+ /0 
 − 1√
2

5 /D � 1
5 /0 � 1

C /. �
√

− 1
2
+S√

S

C /D 
 −
√

− 1
2
+S√

S

/4 /. � −
√

1+S
2√
S

/4 /, �
√

S
2√

1+S

/4 /D 

√

1+S
2√
S

/4 /0 
 −
√

S
2√

1+S

// /, � −
√

3
2
+S√

1+S

// /0 

√

3
2
+S√

1+S

/. /- 
 −
√

2S√
1+2S

/, /- 

√

2(1+S)√
1+2S

/D /- � −
√

2S√
1+2S

/0 /- �
√

2(1+S)√
1+2S

�	� ��� �����
��

�
��� ,�0* (��P���
�� ��	 �����
��

� ����3� �
 ��� 2
�����
�

 �
�	�� �
 ��� (Q, S) �
���

�	�� ��� �	�!���� ���	
���
� ��� ���������
��

� ����3� 
	� ��
��	����� �	�� ��� �		��������
�
�	�� �����
�� 〈QSr||f ||Q′S ′r′〉 �������� �� ���P���
�� ��
� �

 �� ��	�!�� �	�� ��� ��	�
	����
��
� (�������G�	�

 ���P���
�� I��� 	����
� ���.��/������-J� ����� ���P���
��

	� ��!�
 �
 �
��� ,�0 ��	 ��� �
�� �� I1�)J �
��� I��� 
��� @��� ,4J� "
 QE@G F6���6


R�
����� ���P���
�� �

 �� ���
� �
 ��� �)��*�  �������� 

� ��� �+��*�  �������� �	�
��
�	
���� �
 ��� �,*�  ���������

�� ���
 ��
��

���� ��� 2
�����
�

 �
 �
�� �
!
	�

� �����	 ���
	
���� �� ���
�
 ���



0. ������	 �� 	���	���������� �	���

i i′ ���P���
�

. / /
D , −

√
2S′+1√
S′+1

��� Q′ = Q − 1�
S′ = S − 1

2

i i′ ���P���
�

, / /
D .

√
2S′+1√

S′

��� Q′ = Q − 1�
S′ = S + 1

2

�
��� ,�-* "		�������� �
�	�� �����
�� 〈QSi‖a†‖Q′S ′i′〉 ��	 �	�
���
 ���	
��	 �
 ��� 
����
���

� ���� �
 �
����


�� �	������

����
��
���
|QSω〉 =

∑
ri

UQS(ω, ri)|QSri〉, I,�..J

���	� UQS �� ��� �
��
	� �
�	�� ����� �	�
�� �
�� 2
�����
�

 �
�	�� �
 ��� ��
���


� ��	�� =���	� �	������
� �� ��� 
��� E@G ���	
���
� ��� �		�������� �
�	�� �����
��
�� ��� 
���� 
���� ����I�J� 〈QSi‖f †

N+1,µα‖Q′S ′i′〉� 
��� �� �� 	��������� �	�� ��� �	�
	�������� �
�	�� �����
�� 〈QSi‖f †

N,µα‖Q′S ′i′〉 �	�� ��� �	�!���� ���	
���
� ��� ���P�
���
�� 
	� ��!�
 �
 �
���� ,�- 

� ,�+ 

� �

 �� ���
� �
 &��� ��� �)��*����
�������
��� �)��*�������������� ��� �+��*����
������� ��� �+��*������������� ��� �+��*����
�������
��� �+��*������������� �	� ��
�	
���� �
 ��� �)��*,����� ��� ��		����
��
� 	����
��
�
 QE@G F6���6


R 
	� ������. 

� ������.�����
��

)�
�� ��� ���
� 
����	 �� ��
��� �� 

 ����
�
��
� ��
����
 �� ��� ���	
���
 
����	 N
I∝ 4N �
 ��� �
����


�� �
�� 

� ∝ 16N �
 ��� ������


�� �
��J� �����
 �	������ ��
������ �������� ��� 
����	 �� ��
��� �� ���� �


��
��� ���� �� ��� �	��	 �� /444 
���	
�
�� E@G ���	
���
� ��� ���
 �� ��
�� ��
�� ��� ������
� ������
 ��
������!� ����� �� ���
��
�
 ���	�
��� ����
�
��
��� ��	 �
�	�
��
� ��
�
 ��
���� �
�� ��� ����������
� ����
��
���

	� 	�
�	�
����� 

� ��� ���
	
���
 �� ��
��� �� ���� �
�
�
�
�� ���	
���
 �� ���	
���
��
����

���� ��	3� ���
��� ��� �
�	�� �����
�� �� f †
N 
	� �
	���� ��	 �����
	 ����
��
��� �� HN �

����� ��� �
�	�� �����
�� �� f †
N ������
 ��� �������
� ����
��
��� �� HN 

� ��� ������

������� ��
��� ��
� 
	� �	�
�
��� 
	� ��
����


"
 QE@G F6���6


R� �	�
�
���
 �� ��
�	����� �� �
	
����	� /���� /������ 

� /����������
'
	
����	 /��� 	��	���
�� ��� �
����� 
����	 �� ����
��
��� ��
� �
� �� 3��� 
� �
��
���	
���
� �� ������ �� �
�	�
��� 
� ���� 
� �������� �����
 ��� ������ ��� �� 
!
��
���
������
���

� 	����	���� "� �
	
����	 /��������� �� ��� �� 
 ������!� !
���� ��� �
�	��
������ �	�
�
���
 ������ �� ����* �
�� ��� ����
��
��� ���� ��� I	���
���J �
�	�� �����
��� !
��� �� ��� �
	
����	 ���� �� 	��
�
��� ��� ��� �� ��� �
�	�� ������ �	�
�
���
 ��
	������
��� ��
�� 
 ���� 
����	 �� ��
��� �� 3��� ���
 ��� ����
�	
�� �� ����� 

� 

��� 
����	 ���
 ��� ����
�	
�� �� ���� �
 ���� �
����
� ��� ������
���

� ���� �� ��!����
�����
��� ������
 ��� ���	
���
�� %�

���� /������ ���� ��� ��
���� 
����	 �� ��
���
�� �� 3���� "� ������ 
��� �� 	��
	3�� ��
� ����
��
��� �
 E@G ��
� �� �� ������	��� "�



���� ���������� ���������� 0,

i i′ ���P���
�

0 / 1

+ .
√

2�
+1

2
√
�


5 D
√

�
+ 1
2√

�


/4 . −
√

2�
−1

2
√
�


// , −1
/, - 1

/D C −
√

�
+ 1
2√

�


/0 + − 1√
2

/0 /4 −
√
�
+1√
2
√
�


/- /.
√

�
+ 1
2√

�


��� Q′ = Q−1� S′ =
S + 1

2

i i′ ���P���
�

D / 1

+ , −
√

2�
+1
2
√
�
+1

5 0 −
√

�
+ 1
2√

�
+1

C . −1

/4 , −
√

2�
+3
2
√
�
+1

/. - 1
/D + − 1√

2

/D /4
√
�
√

2
√
�
+1

/0 //
√

�
+ 1
2√

�
+1

/- /, −
√

�
+ 1
2√

�
+1

��� Q′ = Q−1� S′ =
S − 1

2

i i′ ���P���
�

, / 1

- .
√

�
+ 1
2√

�


+ D
√

2�
+1

2
√
�


/4 D
√

2�
−1

2
√
�


// 0 1

/. C
√

�
+ 1
2√

�


/, + − 1√
2

/, /4
√
�
+1√
2
√
�


/0 5 1

/- /D
√

�
+ 1
2√

�


��� Q′ = Q−1� S′ =
S + 1

2

i i′ ���P���
�

. / 1

- , −
√

�
+ 1
2√

�
+1

+ 0 −
√

2�
+1
2
√
�
+1

C D 1

/4 0
√

2�
+3
2
√
�
+1

/. + − 1√
2

/. /4 −
√
�
√

2
√
�
+1

/, // −
√

�
+ 1
2√

�
+1

/D 5 1

/- /0 −
√

�
+ 1
2√

�
+1

�	� Q′ = Q−1� S′ =
S − 1

2

�
��� ,�+* "		�������� �
�	�� �����
�� 〈QSi‖a†‖Q′S ′i′〉 ��	 �	�
���
 ���	
��	 a† I����
����

 

� �J 

� ��	 �	�
���
 ���	
��	 b† I����
���� � 

� �J �
 ��� 
������

� ���� �
 ����
��


�� �	������

��� ��
��� 
	� �	�
�
��� �
 ��� ������ �� ���� 
 ������	� ������
��� �		�	� 

� ������	�
�	�
3�
� �
� �� �
������ '
	
����	 �� ��
��� �
��	��� 	���
���
 �� 
������

� ��
����
�� ��
� ��� Q�
�R ������
 ��� ������� 	��
�
�� 

� ��� ������ ����
	��� ��
�� �� 
� ��
��
�� ��
����

��% &��������	 ��������	�

����� #� G� �����
 �	���

��� 
������ E@G �� ���
�
 ��� �����	�� �� �����
���
� 

� ���
����	��� ��
�	������
 �� ��� �
�
���� ����������������
 ������� �� �
����
�� ����	 ��

�
������ ��	� ���
 �
�	������* �
� �

 ����	��
� �����&� ��
����	���� ��
	�� ������������
������� �
�	������
 ���
 	��
�
���
 	
������� 

� !
	���� ��	���	����
�� 	����
�� ��
����
�


� ���
������ ��		��
���
 ��
����
����
 E@G �� ��3��� ��� ���� !�	�
���� ���� �
 ��� &���
�� ��

��� ����	��� ��������

"!)!� *�
���%��+� ������� �
� ,-�� ���
��

��� ���� �
���� ���
�
�� 	����� �
 E@G �� ��� �����	�� �� �����
���
� 
��!� ��� �	��
�
��
�� 
� 
 ��
����
 �� ��� �����	
��	�� $
 ����	�

� 
���
� �� �
��	�
���
 �
� ��



0D ������	 �� 	���	���������� �	���

"Decreasing temperature"

Running
coupling
constants

Local
moment

fixed point

Strong
coupling

fixed point

%���	� ,�/4* )����
��� 	��	���
�
���
 �� ��� E@G 	�
�	�
���
���
 L��� ��� ��	���
�
�
��	�����
 	��	���
�� ��� ��	�����
 �� ���	�
��
� �
�	�� ��
�� I�����	
��	�J� ����� ��� !�	�
���
� ��	�����
 	��	���
�� ��� ����������
���

� ��
�� �� ��� ������!� 2
�����
�

� I�����
�

 �� ��
����	�� �� �� �
	
����	���� �� ���� �
	�� ��� �� ������
� ��
��

��J� ���
 ���
������ �� 
�
	 
 &��� ���
� I�
���� �����J� ��� �	���	���� �

 �� ����	���� �� 
 ��	��	�
�
��!� ���

���
 
	��
� ��� &�������
� 2
�����
�

� ��� ��
�	
� 
��� ������	
��� ��� ���

�� �
�!�	�
����* �!�
 ��	 ������ ����	�
� ���	������� 2
�����
�

�� ��� ���������	
��	�
���
!��	 �� ��� ������� �� ����
��
��� ��� �
���

���	
���� �	�� ��� ��
����	
���
 �� ���� �����	
 
��
�� "
 �
��� �
� �� ��� ��
�	
� �������
�
	��
	��
� 

� ��	�
��� ��		��
��� ������ ��
��	
� �	������� ��� 

��	� �� ��� �����
�	��
�����
���
��

"� ������ �� 
���� �	�� ��� ��
	� ��
� ��� ������ ���� �
 E@G �� &
��� 
� 

� ���	
���

����* �� �
� ��
� �� ���
�
 ���������� ��������� "
 ��
�	
�����
����
� ��� ������
�	��
����� ��
��
� ������� ���� 
� $
��	��
�� ���	 �

�� ��
��
����� ���������
��!� @G��� 

�
K�!
��$
��	��
�� @G��
 ��	3 �
 ��� ��
��
��� ����� IL → ∞� ���	� L �� ��� ������
����J���� )��� ����	�

� ��

������� ���� 
� ��� �	��
� ��
�� �
�	���� ����
� �
 ������	
��� ������ ���� �� &
��� �	 
�� ���
 ��� T → 0 ����� �� �
3�

� I��� 
��� )��� ,�-J�

"� ��� ������ ���
� ����
��
��� ��	 ��������!� IN → N + 2J E@G �	

���	�
���
� 	��
�

I
�
	��J �
��

���� �� �
� ��
� 
 ���� �
��� �
� ���
 	�
����� >�	� 
���	
����� &����
���
� 2
�����
�

 H∗ �� ��&
�� 
�

H∗ = R2{H∗}. I,�.,J

���� E@G� �
� �

 ����� ��� !
	���� &��� ���
�� �� 
 ��!�
 1">� ��!�
���
� �	�� ���
�
�!�	�
� �����	
 I����	��
�� �� ��� ���	
��	 ��
��
� �� ��� &��� ���
����J� 

� ��� �	����
�!�	� ������
 ��� ����	�
� &��� ���
��� %��� ,�/4�

"� ��� �����
���
 �����	�� �� 
 &��� ���
� �� �
 
 �
������
� 	��
���
 �� ��� �����
���
�
�� �	�� �����	�
 �
�� ���� &��� ���
� �� �
���� ����� 
����� ���� �
��� I��� )�����
 .�D �

%�	�� ������ 

� 
�
�%�	�� ������ �������J� ��� �����	
 �� %�	�� ������ &��� ���
�� 
	�
�������� �� �����
���
� ��
� ��

�� �
	����� 
����	 I�
	����� 

� ���� �����
���
�J 

�



���� ���������� ���������� 00

a)

Q=0, S=0

b)

Q=1, S=1/2

c)

Q=-1, S=1/2

d)

Q=0, S=0,1

Ground state Particle
excitation

Hole
excitation

Particle-hole
excitation

%���	� ,�//* '����	�
� 	��	���
�
���
 �� ��� �	��
� ��
�� 

� �����
���
� �� 
 %�	�� �������

�����
���
� ���	� 
 �
	����� �� �	������ �� 
 �����	 ��!�� I�
	���������� �����
���
�J� 

�
�����

���
� ���	���� %��� ,�//� ��� �����
���
� 
� 
�
�%�	��������� &��� ���
�� �� 
��

��
�� �
!� ����
	
��� ������ �
��	�	��
���
�

%�	 2
�����
�

HN 
�
	 
 &��� ���
� H∗� ��� E@G 	���	���
 	��
���
 �

 �� ���

��� �

����	� �� ��� ��!�
���
 �	�� ��� &��� ���
� 

� ��
�
	������
���  �&
�
� δHN = HN −H∗�
�� �	���

δHN+2 = R2{H∗ + δHN} − H∗ ≈ L∗δHN , I,�.DJ

���	� L∗ �� 
 ��
�
	 �	

���	�
���
� F�3� 

� ��
�
	 ���	
��	� L∗ �

 �� ��
��

�����

L∗O∗
l = λ∗

l O
∗
l , I,�.0J



� �� ���

� δHN 
�
δHN =

∑
l

Clλ
∗
l
N/2O∗

l . I,�.-J

%�	 λ∗
l > 1� ��� ��
�	������
 �� ��		����
��
� ����
���	
��	 O∗

l ���� �	�� ���� N * ��
�
� ��
� ���� ���	
��	� 
	� ��
������ %�	 λ∗

l < 1� ��� ��
�	������
 ���� !

��� 

� ��


�� ���� ���	
��	� ����
������ %�

���� �� λ∗

l = 1� ��� ���	
��	 O∗
l �� �
���� �������
 

�

��� ����� ���� �� ������� ��	� �
	������ �� ��
����	�
� 
�
���
�
	 ��		�����
� �� ��� @G
�	

���	�
���
���� ��� ���	
��	 ��
��
� �� 
 &��� ���
� ����	��
�� ��� ��
������ ����
	������ �� ��	��	�
���
�*�� 
 &��� ���
� ���� 	���!

� ���	
��	� �� �
���� ������
�� �����

 &��� ���
� ���� �
�� �		���!

� ���	
��	� �� ����
�� %���� ���
� ���� �
	��

� ���	
��	�
�

 �� �����	 ��
��� �	 �
��
���� �	 �
� ��
� �� ��� ���	��
�� �� ��
�� �� &��� ���
� 

�
�� ��� �	�
3���
 �� ��� �
�!�	�
�������� ��� 3
������� �� ��� ��
��
� ����
���	
��	� I����
����� ���� ��� ������� ����
!
���� λ∗

l J �� �
��	���
�
� �
 ���
������
� �������� ����
�
�����
��!�
 �� ��� &��� ���
� 2
�����
�

 H∗ ���� ��		�����
 ��	��*��

Heff
N = H∗ + ω1Λ

(N−1)/2δH1 + ω2Λ
(N−1)/2δH2 + . . . I,�.+J

���	� ω1 

� ω2 
	� ���� ���P���
�� ����� �

 �� ����	��
�� �� 


����
� ��� E@G
�����	��� %�	 ��
����� &
���������	
��	� ��		�����
� �� ��� %�	��������� T = 0 ���
!��	
�� ��� #�
�� ����� 
	� ����	��
�� �� ��� ��
��
� �		���!

� ���	
��	���


)
!�
� �� ����
!
��� 	������ �
 QE@G F6���6


R �� ��
�	����� �� �
	
����	� ������ �
����������


� �
������������



0- ������	 �� 	���	���������� �	���

"!)!� ������ ��������
���� �	�
������. �	��������������/ �
�����/

�����,� ����

)�
��� ���	����

��� ��

������� ���� 
� �
�
���� ��������������� ��
� �
�
���� 

� �
�
�	���� 
	� ����	��
�� �	��
	��� �� ��� �
�	�� ��!�� �������
�� �� �	��	 kBT � �
�	���� ����
�����	 ��

 kBT 
��!� ��� �	��
� ��
�� 
	� ����
�
��
��� ����	������ ����� �����
���
�
���� ���� ����	 �
�	�� �

 �� ��
����	�� ���	�
��� �
���� ���� ���� ��	
� ��� �� �� 

���� 
��	����
���
� ���	����

��� ��

������ 
� �����	
��	� TN �

 ���� �� �
����
���
�	�� ��� �
�	�� �����	�� 
� ��� N�� ��
�� �� ��� E@G ���	
���
��
������
 "
 ��� �������
��
�	
3��� ��
��� �	

���

�
��
� 
!�	
��
�

〈O〉 = Tr [O exp(−βH)] /Z, I,�.5J

���	� Z �� ��� �
	�����
 ��
����
 Z = Tr
(
e−βH

)


� β = 1/kBT � "
 �	
������ ��� �	
���


	� �������� �
 ��� �	�
�
��� �
��� �� E@G ����
��
��� 
� 
 ��!�
 ���	
���
 ���� N � ����
�	�� 
 &
�������� �����	��� "
 QE@G F6���6


R� ��� �����	
��	� ����
��
�� �� ��
���
���	����

��� ��

������ �� ������ �� &�� ��� ����� ���� �� �����	������� �� ���
�

�	���
�
��� 	�������

7������� ��� ������ ��������������

��� �����	
��	������
��
� ����	��� ��
�	������
 �� ��� �
�
���� �������������� χimp(T )
�� ��&
�� 
�

χimp(T ) =
(gµB)2

kBT

(〈S2
z 〉 − 〈S2

z 〉0
)

I,�.CJ

���	� Sz �� ��� ���
� ���
 

� ��� �����	��� 0 	���	� �� ��� ����
���
 ���
 
� ����	����� 
	�
�	���
� I���� H �� ������ ��� �

� 2
�����
�

 HbandJ� g �� ��� �����	�
�� ��	��
�
����
�
���	� µB ��� =��	 �
�
���
 

� kB ��� =�����


�� ��
��

�� "� ������ �� 
����
��
� ��� �����

���
 kBTχimp/(gµB)2 �

 �� ��
����	�� 
� 

 ������!� ����
� �� ���
����	������ µeff � "
 ��� �	���
�� �� ��� �
�
���� &��� 
������ �
�� �� ��� ����	��� �����
〈S2

z 〉 
���� �� �� 	���
��� �� 〈S2
z〉 − 〈Sz〉2 �
 
���	�

�� �� ��� L����
���
�������
���


����	��� "� �
� 
��� �� 	��
	3�� ��
� ����� #� G� �����
 �	���

��� �	������ �� �
����
��
〈S2

z 〉0 


�����
���� " &
� ��
� �� �� ��	� �	
����
� �� 
���
��� ��	��	� 
 E@G �
����
���
 ��
S2

z ��	 
 �	����� ������� ����	������ ���� �
� 

 
���� ��
�&� �
 ��
� �����
	 
	���
���

���
	 �
 〈S2

z 〉 

� 〈S2
z 〉0 

� ���� �

��� ���
 ����	
����
 �� ��	��	����

=� 


����� ��
	�� �������������� �� ��&
�� 
�

χcharge(T ) =
1

kBT

(〈I2
z 〉 − 〈I2

z 〉0
)
, I,�,4J

���	� Iz �� ��� ���
� ������
 I	��
�� ��
� Iz = Q/2J� "
 ��� 
���
�� �� ��� �
	����������
������	�� 〈I2

z 〉 
���� �� �� 	���
��� �� 〈I2
z 〉 − 〈Iz〉2�



���� ���������� ���������� 0+

*����9� ���� ��� �������

 �&
�
� �
�	�� 
� E = 〈H〉 = Tr
(
He−βH

)
� ��� ��
� �
�
���� �

 �� �
����
��� �	��

�
�	�� L����
���
� 
�

C(T ) =
∂E
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� ��
����
 �
�	�� ��	 ����������	��� �	������ �� ��&
�� 
� I��� $���
��� =J

Aij = −1/(2π)Im(Gr
ij + Gr

ji), I,�,,J

���	� Gr
ij(ω) = 〈〈diµ; d

†
jµ〉〉ω �� ��� I���������
��

� ��	 i �= jJ 	��
	��� G	��
�� ��
����
 ��

��� ����	���� "� �

 �� �������� ���
� ��
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��
�� ��� �	�
���
 ���	
��	� ���
� ��� �������
� �����	
� ������������
�*

Ai,j(ω > 0) =
1

Z

∑
m,n0

Re
[(

〈m|d†
i |n0〉
)∗

〈m|d†
j|n0〉

]
× δ(ω − Em),

Ai,j(ω < 0) =
1

Z

∑
m0,n

Re
[(

〈m0|d†
i |n〉
)∗

〈m0|d†
j|n〉
]
× δ(ω + En).

I,�,DJ
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���
	����� ������
�	�� Σ(ω)����

���� 
��	�
�� ��
�� �� ��	� 
���	
�� 	������ 

� �� �� ������
��� ����
��� ��	 
�����
���
�
�� E@G 
� 

 ����	��� ���!�	 �
 ���  >%��
� � %�	���	 ���	�!���
�� �
����� 
 �����	

��	�
�� �� ��	�� �
	��
� �����	
� �
��	�
���
 �	�� ��
������!� E@G ���	
���
���� I�

QE@G F6���6


R ��� 	����� �� ��� ��
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�* ���� �� ��� ��
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������ ��	 ��
����� �
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�� �� ���
$
��	��
 ����	��� �
 �
�
���� &������� �	 ��	 ��� ������������ ������ ��

��� ��� 
�
	
��� ���
�� �� �	��
� ��
�� ��!�� �	����
� I��� )��� +�,J�

@���
���� 
 ���������
��
� E@G �
� �
�	��������� �� ��
�	
����
� ��� ���
 ����
� ���
 >E@G* ���������
��
� E@G �
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��	���
���
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� �� ��� ��� ��	!������ $ �����	 
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��
�� ��� ���
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�
�*��� �
�� �
�
 ���
� I����
 ��
����
 ��
3 
� ω0J
�� �������� �
��

Fb(ω, ω0) =
e−b2/4

b
√

π
exp

(
−(ln ω − ln ω0)

2

b2

)
, I,�,0J

���� 
 G
����

 ��
����
 �
 
 ���
	������ ��
��� ���	� b �� 
 �	�
��
�
� �
	
����	� �����
���
b = 0.3� 9
� ������ 3��� �
 ��
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 ����	�

� ��
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	��
� ��� �	�
��
�
� �	�����	��
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� �
�	�� ω �� 
��
�� ������� ��

δω+ = ω
(
eb

√
ln 2 − 1

)
δω− = ω

(
1 − e−b

√
ln 2
) I,�,-J

%�	 ������
�	�� �
	� �� ��� �����	�� I�
� ω = 1J ���� ������ ��� 	��������
 �� [−0.22; 0.28]

� b = 0.3� '�
3� ��
	��	 ��

 ���� ���� ���� 
���
	 �	�
��	 ��

 ���� �	��� 
	�� E
�!�
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���
 �� E@G �� ���	���	� 
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� ���� �
�	�����
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��	�� 
	� 
��� �������� ����	���� ��� 
����
 �� ��� �	�
��
�
�
�� �� 	���
��

f(ω) =

∫
dω0f(ω0)δ(ω − ω0) → f̃(ω) =

∫
dω0f(ω0)Fb(ω, ω0). I,�,+J

F�� �� ��
����	 ��� ����� �
 
 

		�� F�	�
���

 �� ����� ∆ ��
��	�� 
� ω = 0*

f̃(ω) =

∫ ∞

0

dω0
∆2

ω2
0 + ∆2

Fb(ω, ω0)

=

∫ +∞

−∞
dy0

∆2

exp(2y0) + ∆2

e−b2/4

b
√

π
exp

(
−(y − y0)

2

b2

)
,

I,�,5J

���	� �� ��	��	��� �����������
 ln ω0 = y0 

� �
�	������ y = ln ω� ��� ����� ω → 0
��		����
�� �� y → −∞� ��� �
���	

� �� 
 G
����

���3� ��
����
 ��
��	�� 
� y ����

 y0 ����
��
� ������ ∝ 1/(exp(y2

0) + ∆2)� %�	 ��
�� �
���� ω I�� �� ��
�	���� ω 

∆J� ���� ������ ������� 
 ��
��

� 

� ��� �
���	
� �

 �� �!
��
��� ��
����� �� &
�
limω→0 f̃(ω) = exp(−b2/4)� %�	 b = 0.3� ���� ��!�� 0.98� "
 ����	 ��	��� �!�
 �
 ���

���
�� �� 

� ����	 
��	����
���
�� ��� ���
	������ �	�
��
�
� 
� b = 0.3 �
�	������ 
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� ���� 
� ��������� �����
���� ��� !
���
�� b �� �����
 �� �� 0.3 �	 ���� I�
	
����	 �����
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�
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� $� 

 ������	
���
� �� ��
����	 ��� �
�� �� ��� I1�)J ������	�


� 
 ��
��	 ���	
��	 ���	
��	 Ô �� 	

� M ���� 	������ �� ��� ���
 SU(2) �	���� ���
�
��	�
���
 
���� ��� ���	
��	 Ô 
� ���	
���
 N �� �
��	��� ��
�
�
�� �
 
 �
�	�� ON ��
�		�������� �
�	�� �����
�� 〈QSr‖Ô‖Q′S ′r′〉� ��� 
�
���	� �����
��� ��	 ��
���� ���	
��	�
�
!� Q = Q′ 

� S = S ′� ��	 ������� I�	�
���
J ���	
��	� �� ���� �
!� Q = Q′ + 1 

�
S = S ′ ± 1/2 

� ��	 �	����� ���	
��	� I���� 
� ���
J �� ���� �
!� Q = Q′ 

� S = S ′ �	
S = S ′ ± 1� "
 ��� �
��� �� ����
!
���� |QSω〉 �� ��� (N + 1)�� ���	
���
� �� �	���

〈QSω‖Ô‖Q′S ′ω′〉N+1 =
〈QSSzω|Ôµ|Q′S ′S ′

zω
′〉N+1〈〈〈

S ′S ′
z;;;Mµ|||SSz

〉〉〉 I,�,CJ

�� �
3� ���� ���	�����
 ��

�
����� �� �

 ������� ��	 ��
����� Sz = S� µ = M � S ′
z =

S − M � �� ���
 �
!�

〈QSω‖Ô‖Q′S ′ω′〉N+1 =

∑
rir′i′ UQS(ω, ri)UQ′S′(ω′, r′i′)〈QSSri|ÔM |Q′S ′, S − M, r′i′〉N+1〈〈〈

S ′, S − M;;;MM|||SS
〉〉〉

I,�D4J
�� ���
 �
3� �
�� 
����
� ��� ��&
����
� �� |QSSzri〉 ��
���� I,�/4J� 

� �	���

. . . =
∑
ri,r′i′

∑
αβ

c(QS, Q′S ′, ii′, αβ)〈〈〈
S ′, S − M;;;MM|||SS

〉〉〉
× UQS(ω, ri)UQ′S′(ω′, r′i′)〈Fi(QS)fα

i (S)r|ÔM |Fi′(Q
′S ′)fβ

i′ (S − M)r′〉N+1,

I,�D/J

���	� c(QS, Q′S ′, ii′, αβ) �� 
 ��
�
	 �	����� ������
 (q, s,k) ��
��� �
 ��� 
���� ����� ��
��� �����
 ��
�
 

� α, β 
	� ��� ��		����
��
� sz �����
�
�� �� ����� ��
���� �� 	��	���
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���� 
�

. . . =
∑
ii′,αβ

c(QS, Q′S ′, ii′, αβ)
〈〈〈
gβ

i′(S
′, S − M);;;MM|||gα

i (SS)
〉〉〉

〈〈〈
S ′, S − M;;;MM|||SS

〉〉〉
×
∑
rr′

UQS(ω, ri)UQ′S′(ω′, r′i′)〈Fi(QS)r‖Ô‖Fi′(Q
′S ′)r′〉N

I,�D.J

$���	 �
3�
� �
�� 
����
� ����� �����
��� Fi(QS) 

� Fi′(Q
′S ′) 
	� ��

����� �� ���	
��	

Ô 

� ��	��	��
� ��� ���� �!�	 α 

� β� �� ��	
� ��� ��
� ��	 ��!�
 (QS) 

� (Q′S ′)
�����
���� �
�� 
 ��
�� 
����	 �� (ii′) �����

���
� ��
�	������ �� &

��� �	���

〈QSω‖Ô‖Q′S ′ω′〉N+1 =
∑
ii′

C(QS, Q′S ′, ii′)
∑
rr′

UQS(ω, ri)UQ′S′(ω′, r′i′)〈Fi(QS)r‖Ô‖Fi′(Q
′S ′)r′〉N .

I,�D,J
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�
��� �
��� 
�

ρ =
1

Z

∑
QSSzω

exp(−βEQSω)|QSSzω〉〈QSSzω|, I,�DDJ

���	� ω �
���	
��� ����	�
� ��
��� �
 �
�� (Q, S) �����
�� 

� ��� �	

���

�
��
� ��
�
������
� ��� ��

Z = Tr [exp(−βH)] =
∑

QSSzω

exp(−βEQSω). I,�D0J

��� 	������ ��
������
�	���� 
	� ���
 �������� ��	 �����	 �����	
��	���  �	�
� ���
����
� E@G 	�
� ��� �	
��� 
	� �������� ���� 	������ �� ����� 	������ ��
������
�	�����
	
���	 ��

 ���
� ��� �	

���

�
��
� ��
������
�	�� ρ = exp(−βH)/Z�

�� 
�� ������	
�� ��� ��� 	���	���
 	���� ��	 �������
� ��� 	������ ��
���� �
�	�� 
	�
��	�!�� �
 ��� (Q, S) �
��� ��	 ��� ��
������


�� �
��� H
��
	� �	

���	�
���
 �� ��
���
�	�� ��� N�� �� (N + 1)�� ��
�� �� I��� ��� I,�..JJ

|QSSzω〉N+1 =
∑
ri

UQS(ω|ri)|QSSzri〉N+1, I,�D-J

���	� ��� |QSSzri〉N+1 ��
��� 
	� ��&
�� �� ��� I,�/4J� ���� �
� �� ���

��� 
�*��

|QSSzr1〉N+1 = |Q + 1, SSzr〉N ,

|QSSzr2〉N+1 = uf †
(N+1)↑|Q, S − 1

2
, Sz − 1

2
, r〉N + vf †

(N+1)↓|Q, S − 1
2
, Sz + 1

2
, r〉N ,

|QSSzr3〉N+1 = wf †
(N+1)↑|Q, S + 1

2
, Sz − 1

2
, r〉N + yf †

(N+1)↓|Q, S + 1
2
, Sz + 1

2
, r〉N ,

|QSSzr4〉N+1 = f †
(N+1)↑f

†
(N+1)↓|Q − 1, SSzr〉N ,

I,�D+J

���	� f †
(N+1)µ �� ��� �	�
���
 ���	
��	 ��	 �����	�
� �
 ��� (N + 1)�� ���� �� ��� �����
�

2
�����
�

 

� u, v, w� 

� y 
	� ��� (�������G�	�

 ���P���
��

u =

(
S + Sz

2S

)1/2

, v =

(
S − Sz

2S

)1/2

, w = −
(

S − Sz + 1

2S + 2

)1/2

, y =

(
S + Sz + 1

2S + 2

)1/2

.

I,�D5J

 �
���� �
�	�� �
 ��� �
��� �� |QSSzri〉N+1 ��
��� ��

ρ =
∑

QSSzω

exp(−βEQSω)
∑
ri,r′i′

UQS(ω|ri)UQS(ω|r′i′)|QSSzri〉N+1〈QSSzr
′i′|N+1. I,�DCJ

�� 
�� ��	��	� 
 �
	��
� �	
�� �!�	 ��� ��
��� �
 ��� 
������

� (N + 1)�� ���� �� ���
�

�	�6����	 ���	
��	� ��&
�� �
 ��� ��
�
 �� ��
��� N �  �
��

� �	�6����	� I����� ����



-D ������	 �� 	���	���������� �	���

i = i′J 
	�*

TrN+1 (|QSSzr1〉〈QSSzr
′1|) = |Q + 1, SSzr〉N〈Q + 1, SSzr

′|N
TrN+1 (|QSSzr4〉〈QSSzr

′4|) = |Q − 1, SSzr〉N〈Q − 1, SSzr|N
TrN+1 (|QSSzr2〉〈QSSzr

′2|) = u2|Q, S − 1
2
, Sz − 1

2
, r〉N〈Q, S − 1

2
, Sz − 1

2
, r′|N

+ v2|Q, S − 1
2
, Sz + 1

2
, r〉N〈Q, S − 1

2
, Sz + 1

2
, r′|N

TrN+1 (|QSSzr3〉〈QSSzr3|) = w2|Q, S + 1
2
, Sz − 1

2
, r〉N〈Q, S + 1

2
, Sz − 1

2
, r′|N

+ y2|Q, S + 1
2
, Sz + 1

2
, r〉N〈Q, S + 1

2
, Sz + 1

2
, r′|N

I,�04J

��� i = i′ = 2 ��	�� �

 �� ������&�� 
���	 �����
� �!�	 Sz*
S∑

Sz=−S

TrN+1 (|QSSzr2〉N+1〈QSSzr
′2|N+1)

=

S∑
Sz=−S+1

(
u2

SSz
+ v2

S,Sz−1

) |Q, S − 1
2
, Sz − 1

2
, r〉N〈Q, S − 1

2
, Sz − 1

2
, r′|N

=
2S + 1

2S

+(S−1
2
)∑

Sz=−(S−1
2
)

|Q, S − 1
2
, Sz〉N〈Q, S − 1

2
, Sz, r

′|N

I,�0/J

��� ���
 ������������ �� (QS)N+1 ��
�� �� 2S +1� ����� ��� ���
 ������������ �� (Q, S− 1
2
)N

�� 2S� ��� �
���	 (2S + 1)/(2S) �� ���	���	� ��	��� 
 
�	�
���
���
 �
���	� "
 ��� �
��
��
� �� ����
���� ��
� �
 ��� N����� ��
�� ��� Sz 	�
� �!�	 
�� ��	�������� !
���� ��	 ���

S − 1

2
� $
 


������ ������&�
���
 �

 �� ��	��	��� ��	 i = i′ = 3� 9��������
��

� ��	��

����� ��		����
� �� ����	�
� ��
	�� �
 ��� 
������

� ���� 
	� ���
	�� ��	�� ����� ����	
���������
��

� ��	�� ���� 
� i = 2� i′ = 3 ��!� ��	� ���
 ������ �!�	� E�
���	� �
	��
�
�	
��� �� �	�6����	 ���	
��	� 
	� ���	���	�*∑

Sz

TrN+1|QSSzri〉N+1〈QSSzr
′i′|N+1 = δii′ci(S)

∑
Szi

|QiSiSzir〉N〈QiSiSzir
′|N I,�0.J

���� c1 = c4 = 1� c2 = 2S+1
2S
� c3 = 2S+1

2S+2
� Q1 = Q + 1� Q2 = Q3 = Q� Q4 = Q − 1�

S1 = S4 = S� S2 = S − 1
2
� S3 = S + 1

2


� ��		����
��
� Szi 	

��� �!�	 
�� �������� !
����

��	 
 ��!�
 Si� ��� 	������ ��
���� �
�	�� �� ��
��

� �
 ��� (QS) �����
�� �
���� "
 

��
��� �� �
� �����
	 ������	� �	���	���� 
� ��� ��
���� ��
��	 ���	
��	�� "
 ��
�	
� ��
���	���	� �
!�

ρN+1
reduced =

∑
QSSz

∑
ωω′

CQS,N+1
ωω′ |QSSzω〉N+1〈QSSzω

′|N+1

=
∑
QSSz

∑
ωω′

CQS,N+1
ωω′

∑
ri,r′i′

UQS(ω|ri)UQS(ω′|r′i′)|QSSzri〉N〈QSSzr
′i′|N

=
∑
QS

∑
ωω′

CQS,N+1
ωω′

∑
ri,r′

UQS(ω|ri)UQS(ω′|r′i)ci(S)
∑
Szi

|QiSiSzir〉N〈QiSiSzir
′|N .

I,�0,J



��#� 
����������	�$ �	� -0

���� �� �� �� ����
	�� ����

ρN
reduced =

∑
QSSz

∑
rr′

CQS,N
rr′ |QSSzr〉N〈QSSzr

′|N . I,�0DJ

�� &

��� ���
�
 ��� 	���	���
 	��
���
 ��	 �
����
���
 �� ���P���
�� CQS,N
rr′ �
 ��� 	������

��
���� �
�	��*

CQS,N
rr′ =

∑
ωω′

CQ−1,S,N+1
ωω′ UQ−1,S(ω|r1)UQ−1,S(ω′|r′1)

+
∑
ωω′

CQ+1,S,N+1
ωω′ UQ+1,S(ω|r4)UQ+1,S(ω′|r′4)

+
2S + 2

2S + 1

∑
ωω′

C
Q,S+

1
2
,N+1

ωω′ U
Q,S+

1
2
(ω|r2)U

Q,S+
1
2
(ω′|r′2)

+
2S

2S + 1

∑
ωω′

C
Q,S−1

2
,N+1

ωω′ U
Q,S−1

2
(ω|r3)U

Q,S−1
2
(ω′|r′3)

I,�00J

���� �� ��� �
�
 	����� �� ��� ��	�!
���
� H��
� 3
��
 UQS �
�	����� 	���	���
 �� 
������

���	 ��� &	�� E@G 	�
 �� �
����
�� ��
���� �
�	���� ��	 
�� ��
�
 ��
�����

"
 ���  >�E@G ������ ��� �����	
� ��
����
 �� �!
��
��� �
 ��� ����
� E@G 	�
 ���
�
��� 	������ ��
���� �
�	�� ρreduced 
�

AN
µ (ω) =

∑
ijm

(〈j|d†
µ|m〉〈j|d†

µ|i〉ρreduced
im + 〈j|d†

µ|m〉〈i|d†
µ|m〉ρreduced

ji

)
δ(ω−(Ej−Em)). I,�0-J

=��� ��	�� ��
�	����� 
� ������!� %&' 
��
��!� �	����
�����
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� 
	� ���� �
 ���� ��	3 O �
 
������
 ��
E@G O �� ���!� ����	��� ������� )�����
 D�/ ����	���� ��� G	��
�� ��
����
 ������ ��	

�
��
��	
���
� ������� ����� ������
� D�. 

� D�, 
	� ��!���� �� ��� !
	�
���

� �������


� 1�

��� >�
�� (
	�� �������� 	�������!���� " 	��
	3 
� ���� ���
� ��
� ��� 	������
�� ����� ������� I���
 ���� �
 ����	 	�������!� ���
�
� �� !
������J 
�	�� !�	� ���� ����
	������ ���
�
�� ���
� E@G� ��	 
 ��	��� ����
	���
 ���� ��	 ��
����� �
�� /0D�

" ���� 
��� �
3� ��� �� ��� =���� $
�
�� I=$J ������� ����� �	�!���� ��
�� �������
 �� ���
#�
�� ������	��	��	
�������
 H��
� =$� ��� ���	����

���� �� ��� �

������ �	����� ��
	������ �� 
 ������ �� �
&
����� �

� 
�
���
�
	 �
���	
� ���
���
���
���� ����� 
	� �
����
���!�� 
���	��
���� ����� =$ ���� 
�� ��
	��� ��� ������� ����
� ��� #�
�� ������ �� ��
���	����� ������ ��
�� �� �	�!���� ��
�� 	������ ��
� �

 �� ����
	�� ���� E@G �
����
���
�
�� 
���	�
�
 ����	 	���
�������

��� -�		�2� ���
���� �	���� ��� ������	��
���$ �����

�	��
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	� ������ �� �
��	
����
�� �� �� ��������� ��P���
� �� ����	���
������
� ������� ���
� ������!� 
�
��
��	
���
� ������� )�
�� ��� �����	�
 ���
 ���
 ��
��

� 	���� �� �
� �� �	����� �	�� ��
����	
���
 

� ��� ����� ���
��� �
3�� ��� ��	� ��

 ��������
��
� 2
�����
�

 ��	 ���
���� �
	������� "
 �	

���	� �	������� ��� ��
���	�	 ��
����	���� ���
�

Himp =
∑
ij

hij|i〉〈j|, ID�/J

--



���� �����	��������(������	 ��	�������� �����
 -+

���	� i, j 	

�� �!�	 ��� �
����� ����� �� ��� ��
���	�
� 	����
� ��� ��
���	�	 ������� �� ���
��
������
 ��
�� !�
 �����
� ��	�� �� ��� ��	�

H ′ = −
∑

i

tL,i (|i〉〈L| + 2���) −
∑

i

tR,i (|i〉〈R| + 2���) . ID�.J

%�	 ����������� ��� �� 
����� ��
� �
�� ��
��� ���� Ii = 1J �� ������� �� ���� ��� ���� 

�
	���� ��
� I���� ����� �
 �
��� �� ��� �
�� ���
 ���� ������ �� 
������ �� ����� ��� %

�
����� �
 ������������ ������ ��

��� ��� �
 )��� +�,J� ��� 	��
	��� ������
�	�� �
�	��
��� �� ��� ������
� �� ��� ��
�� ��

Σr = Σr
L + Σr

R, ID�,J

[Σr
L]11 = t2gr

LL, ����	 �����
�
�� ��	�� ID�DJ

[Σr
R]11 = t2gr

RR, ����	 �����
�
�� ��	�� ID�0J

���	� gr
LL 

� gr

RR 
	� 	��
	��� G	��
�� ��
����
 �� �
������� ���� 

� 	���� ������
&
���
��
�� 	�������!���� ��� ������!� 2
�����
�

 Heff = Himp + Σr �� ���
 ���� �� ���
�
 ���
	��
	��� G	��
�� ��
����
 �� ��� ����	��� 	����
*

Gr = (ε�− Heff)−1 . ID�-J

)����	
� ��
����
 �� ��&
�� 
�

A =
i

π
(Gr − Ga) = −2

π
Im Gr, ID�+J

����� ��� �����	
� ��
����
 �� ������ ρ = TrA� %�

���� �� ��&
� ��� �	

�������
 ��
����
*

tLR = Tr (ΓLGrΓRGa) ID�5J

���� ΓL = i(Σr
L − Σa

L) 

� ΓR = i(Σr
R − Σa

R)� �	�� ����� ������� ��� ��
����

��*

G = G0tLR(ε = 0). ID�CJ

��� -�����������
�3�����	� 
���������� �	����
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���

� ������ �� 
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 ��
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�
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	�
���

�
�����	 ���� ��
� ���
	� ��� �	�� �	��
� ��
�� �
�	��� "
 ��
�	
�� ����!�	� ��� !
	�
���

�
I�	 Q�	�
�RJ ����������
� ���� 
�� 
�����
	��� ��
� ���
	� ��� �	�� �	��
� ��
�� �
!���
��
���
� ���� ������� ��
� ���	� �� 
� ��
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 ����
	������ �
 ������ ��	�� ��� �
	����� 
�����
���
 �� ��� #�
�� �	����� �� K����
�� �
!�
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 �������� ����
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	�
���

� 
��	�
�� ��		����� 	��	������ ��� #�
�� �
�	�� ∝ exp(−1/ρJ)�

��� !
	�
���

� ������ ���� �
 ���� ��	3 I��� QG�
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���	 !
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� �	���

��� ��!������ ��	 ��� $
��	��
 ����� �� #� )��B
�
���	 �� �����
���	���
 
��� �������	����
 �
 ���
� ��	�
����������� )������
 �� ���� �	����� 	����	��
�	���	 ����	�����
 �� �����	�
 ��		��
���
 ������ ���
��� ��
	�� L����
���
� �
 ��� ���	��
��
 
��� 
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��� ����	����� ��� �� �����	�
������	�
 	�������
� ��� ������ �
� �
��	
����
��� �� E����� ����
�	
�� $
��	��
 ����� �� G�
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� )��B
�
���	�������

�� ����� ������������
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 �����	
 �� 	
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���
��� ������
���
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����
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 ��
����� �� &
��
� 
 �	�
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!���
����
 ���� �	�� �
	
����	�� ���
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�
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� ��
�� �
�	�� 
� 
 ��
����
 �� ����� �
	
����	� 

� ��	��	��
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����
 ���� ��� ������ �
�	�� �� ���
 ��� ���� 
��	����
���
 ��
��� �	�� �
!���
����
 �	�� ��� �����
�� �� ��� �	�
� �
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!��
��
����
 ���� ���	���	� �
!� ��� ��
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�
!�� "
 �
	�����
	� ��� ��
�� �	��
� ��
�� �� ��� $
��	��
 ����� �� 3
��
 �� �� 
 ��
�����
�� 
 ���� ��
	��
� ���
� ��	 
 !
	�
���

� �
����
���
 �� ��� 	���	����� 2
	�	���%��3 
��
�	����
���
 ���� ���
���
� �	���
�� ��	 ���� ���
�� "
 ��� 2
	�	���%��3 �������
 |ΨHF〉 ���
��
	�� L����
���
� �


�� �� �	���	�� ����	����� I��
�� �����	�
� 
��
�� ���� �
 �
�	�J�
���	���	� #� )��B
�
���	 �	������ ��� �������
� $
�
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|Φ0〉 = (λ0P0 + λ1↑P1↑ + λ1↓P1↓ + λ2P2) |ΨHF〉, ID�/4J
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����	� λi 
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 ���	
��	� Pi ����� �	�6��� �
�� ��� �����
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���� i �����	�
� �
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 ��� �
�� �� 
 ��
��� �	���
� �� �

 �	��� ���
�	�6�����
 ���	
��	� 
�*

P0 = (1 − n↑)(1 − n↓) ID�//J
P1,↑ = n↑(1 − n↓) ID�/.J
P1,↓ = n↓(1 − n↑) ID�/,J
P2 = n↑n↓. ID�/DJ
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 ��	 $
�
�� ID�/4J �� ��!����* �� λ1µ 
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	�� ����
	�� �� λ0 

� λ2� ���
��
	�� L����
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 ��� #�
�� 	����� 
	� ����	������
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	�����
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 Heff *���

Heff =
∑
k,µ

εknkµ +
∑

µ

(εd + Un0)ndµ + Ṽ
∑

µ

(c†1µdµ + ����). ID�/0J

"� n0 = nHF 

� Ṽ = V � ���
 |Ψ̃HF〉 ���� �!�	 �� ��� 	���	����� 2
	�	���%��3 �	��
� ��
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��� �	����� �� ��� ��	� det(H − εS) = 0�
2�	� S �� ��� 4×4 �!�	��
� �
�	��� ��
�� ��� �	�6����� ��
��� |Ψα〉 = Pα|ΨHF〉 �� 
�� ��	�
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������� �
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 ��� �� α = 1, . . . , 4M

�
��� ��
����
�
|Ψα〉 = Pα|Ψ̃HF〉 =

∏
i∈C

P i
αi
|Ψ̃HF〉, ID�/-J
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Hβαdα = ESβαdα, ID�/+J

���� Hβα = 〈ψβ|H|ψα〉 

� Sβα = 〈ψβ|ψα〉� ���	� |ψα〉 = Pα|Ψ̃HF〉� �� ���
�
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Ψ =
∑

α

dαψα, ID�/5J

���	� dα 
	� ��� !
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� ���P���
�� �� ��� �	��
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�� Nα� �� ���� �
!� N |ψβ〉 = Nβ|ψβ〉� ��
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N =
∑
α,β

d∗
α〈ψα|N |ψβ〉dβ ID�/CJ

=
∑
α,β

d∗
αdβ〈ψα|ψβ〉Nβ ID�.4J

=
∑
α,β

d∗
αdβSαβNβ. ID�./J
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�
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��	 e−ΘH 
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3�
� ��� Θ → ∞
�������	� %�	 ���������� �� ���	��
	� ��� 
�	�
���
���
 

� �� �	���

|Ψ0〉 = lim
Θ→∞

e−ΘH |ΨT 〉, ID�..J

���	� Ψ0 �� ��� �	��
� ��
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� ���� ��� �	��
� ��
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Z = Tr
[
e−ΘH

]
=
∑
|ψ〉

〈ψ|e−ΘH|ψ〉. ID�.,J
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Z = 〈ΨT |e−ΘH |ΨT 〉, ID�.DJ

���	� ΨT �� 
�
�
 

 
	���	
	� �	�
� �
!���
����
� ��� ������
���
 !
��� Z �� ��� �!������

���	
��	 e−ΘH �� ���	���	� ��� ��

���� �� ��
�	
� �
��	����



���� ������� ����� ��	�� �����
 +/

�!"!� ������� ������������


�� ��
����	 ��� �!������
 ���	
��	 ��	 
 2
�����
�

 ����� �

 �� ���������� �
�� ����
��
� 

� �
��	
����
 �
	�� H = Ht + HI *

e−ΘH = e−Θ(Ht+HI). ID�.0J
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 ��� ��	�
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 �	����� �� ����
�
��
�� ���
� ��� G�
���	 ��	���
�	�

eA+B = eAeBe−[A,B]/2, �� [A, B] = ��
��. ID�.-J
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	� ���� Θ �
�� ��
�� ���� ����� I���� ������J*

e−ΘH =
(
e−∆τH

)m
. ID�.+J

2�	� m �� ��� 
����	 �� ��� ���� ������ 

� ∆τ �� ��� ��
��� �� 
 ���� ����� �� ��
�
Θ = m∆τ � "� ∆τ �� ��
��� �� �

 ��	��	� ��� 
��	����
�� �	����	 ������������
*�	�

e−∆τH = e−∆τ(Ht+HI) = e−∆τHte−∆τHI + . . . . ID�.5J

��� ���� ��
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� ID�.+J 
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e−ΘH =
(
e−∆τHte−∆τHI

)m
+ O(∆τ). ID�.CJ
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HI = U
(
n↑ − 1

2

) (
n↓ − 1

2

)
= U
(
d†
↑d↑ − 1

2

)(
d†
↓d↓ − 1

2

)
. ID�,4J

"� �� �������� �� �	

���	� ��
	��� ��	� x2 = y4 �
�� ��
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��� �
�� x = y2 ���
� G
����


���
���� �
 ��� 	�!�	��*

e
1
2
x2

=
1√
2π

∫
dφ e−

1
2
φ2+φx ID�,/J
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2

)(
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2

)
= −1

2
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2 +
1

4
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e−∆τU(n↑− 1
2)(n↓− 1

2) =
e−∆τU/4

√
2π

∫
dφ e−

1
2
φ2

e
√

∆τU/2φ(n↑−n↓). ID�,,J
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e−∆τU(n↑− 1
2)(n↓− 1

2) =
e−∆τU/4

2

∑
s=±1

eαs(n↑−n↓). ID�,DJ
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e−ΘH =
m∏

n=1

[
e−∆τHIe−∆τHt

]
=

m∏
n=1

[∑
sn

e−∆τHI (sn)e−∆τHt

]

=
∑

s1,...,sm

[
m∏

n=1

(
e−∆τHI (sn)e−∆τHt

)]
.
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〈ΨT |US(Θ)|ΨT 〉 = det[P †BSP ], ID�,5J
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��
� �� ��
��
��� �	��������	�
 ����	� �	�������
 ��	 ������� ���
�
	�
��
�����
 ���� δqp ��
�� ������ ���� �� 

����	 �

�����
���
 �� ��
� �
�� ��
� �!�
 ��	 �
�	��
�
	�� Λ� ��� ������ �����
���
 ��!��� �
����
��� �� E@G �

 �� ����
	�� �� &��������	����
�
�	�������
��

�� ����	��
� δγµ
qp � �� 
��� �� ���	
�� ��� ��
�����
	����� �
�	���� �	�� ��� ���� �

���
	�����

�����	��� ��� ���� 
��	�
�� �� �� �
3� ��� �� ��� 3
��
 ��

��� 
����	� �� ��� E@G
����
!
����� F�� �� ��
����	 
 ��
�	
� ������


�� �	����� ���� 	�L�����
 ������	� �

��� �	���
�� �� �
�
���� &���� ���� ��� (Q, Sz, P ) �
��� �� ����� F�� Q′� S ′

z 

� P ′ ��
���
��� ��

��� 
����	� �� ��� �	��
� ��
��� ���
 ��� ��
���������	�
 �����
���
� 
�����
	���
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-1/2 -1/4 0 1/4 1/2
δ

qp
/π

2=Λ1/2

8=Λ3/2

16=Λ2

32=Λ5/2

E

��� �
���
�
�
����� �
 
��

0 1/4 1/2 3/4 1/2
δ

qp
/π

0

1

2

3

E
/E

0

��� !��"�����
��
 �
 
��

%���	� 0�.* :�8 )�
���������	�
 �
�	�� ��!��� 

� :�8 ��� �
�	�� �����	�� �� ��� %�	���
������ �

���
	����� �����
���
� ����� �	�� 
�
��
��	
���
� �
	������ 

� ����� 
� 
 ��
����

�� ��� ��
���	�
� ��
�� ����� δqp �
 ��� �
�� �� 
 ��
��� ��


�� 

� �
 ��� 
���
�� �� ���
�
�
���� &���� ���� δ↑qp = δ↓qp�  ���	����
���
 �
	
����	 �� Λ = 4�

�
		� ��

��� 
����	� Q′ + 1� S ′
z ± 1/2 

� ±P � >�	� �����&�
���*

E(Q′ + 1, S ′
z + 1/2, P ′) −→ η+↑,even

1 ,

E(Q′ + 1, S ′
z − 1/2, P ′) −→ η+↓,even

l ,

E(Q′ + 1, S ′
z + 1/2,−P ′) −→ η+↑,odd

l ,

E(Q′ + 1, S ′
z − 1/2,−P ′) −→ η+↓,odd

1 .

I0�//J

��� ��
�� ������ 
	� ���
 ���	
���� �	�� 3
��
 η+µγ
1 (δµγ

qp ) ����
��
�� �	 �	�� ��� �����
�
2
�����
�

 G	��
�� ��
����
���
��
� $� 
 ����3� η−µγ

1 ����� �� �
����
��� �	�� E(Q′ −
1, S ′

z±1/2,±P ′)� �	 �!�
 ��� �������
� �
	� �� ��� �

���
	����� ����
!
��� �����	�� �����
�� 	���
��	����� �� !�	��� ��
� ��� ������ �� ����� 	�
�	�
����� �� ��� %�	�� ������ &���
���
��

���� 
��	�
�� �

 �� ��
�	
����� �� ����	 ������	� ������ �
3�
� Q′ +1, S ′ +1/2,±P ′ ��
���
�
 δeven↑

qp = δeven↓
qp 

� δodd↑

qp = δodd↓
qp �
 ��� �
�� �� U(1)charge × SU(2)spin ×Z2 ������	��

�	 �
3�
� I ′ + 1/2, S ′ + 1/2,±P ′ �
 ��� �
�� �� SU(2)iso × SU(2)spin × Z2� 

� �� ��	���

���
 ��� �
	��� ��

��� 
����	 P �� 
�� �	
�3��� �� �� 
�� 
��
�� �������� �� �

������
����� 
����
 ��� γ ∈ {even, odd} �
��� �� ��� ���	
���� ��
�� ������� E�!�	�������� ��� I0�5J
�� ������	�� ���� 	������ �� ��� �
��	��

�� �� ��� �
���� γ� ���	���	� ��� ��
����

�� �


����� �� ����	��
����	



���� ���� ��	���� +C

Impurity

� �=0 or

1N

%���	� 0�,* $�����
	� 	�
� ������ ���� �������� ����	��� 	����
� ��� 	�
� �� ���	��� ��

 L�� Φ = 0 �� Φ = π� ����� �� ����!
��
� �� �
!�
� ��	����� �	 

�����	����� ���
�
	�
��
�����
� 
��
� ��� 	�
��

 �� ���	 �������

���
 ��� �	��
� ��
�� �� ��� ��

��� ����	��� ����� �� %�	�� ������� ��� T = 0 ��
����
�

�� �� ��!�
 �� ��� Q��
� ��	���
R*��	��������

G = G0 sin2
[π
2
Nρ(εF )(E0 − Eπ)

]
. I0�/.J

2�	� E0,π 
	� ��� �	��
� ��
�� �
�	���� �� 
 �
	�� N����� 
�����
	� 	�
� �
�� ����� ���
�
��	
���
� ������ �� ��������� ���� ��	����� 

� 

�����	����� ���
�
	� ��
�����
�� 	��
������!��� I%��� 0�,J� ��� ��
�����
 �� !
������ ����	

N � 1

ρ(ε)

∣∣∣∣∂t(ε)

∂ε

∣∣∣∣ , I0�/,J

���	� ρ(ε) �� ��� ��
���� �� ��
��� �
 ��� ��
�� 

� t(ε) �� ��� �
�	�� ����
��
� �	

�������

��
����
� ��� ������ ������� ��
�� �
 ��� ���	����

��� N → ∞ ������ ����� �
 &
���
	�
�� ��� �		�	� ��
��� 
��	����
���� 
� N−1���	

��� ��
� ��	���
 �

 �� �	�!�� 	���	����� ��	 
 
�
��
��	
���
� ������ �� 	��
��
� ���
��
����

�� �� ��	�����
� ��		�
�� �
 ��� 
�����
	� 	�
����	 ��� 	�
��
 ���� 
��	�
�� 
���
��	3� ��	 �
��	
���
� ������� ���� %�	�� ������ ��	�������	
��	� &��� ���
� ��� �
���
����
��
� ��� &�������
� ������!� 2
�����
�

 �� 
�
��
��	
���
�� ���	���	� ��� �
�� �	��� ����
��	���� �
��

��� ��	 ��� ��
���
	����� 2
�����
�

� ��� ������ ���� 
�� ���� �� ��
����
��� ��	 ��
���
	 %�	�� ������ ������� � ���� 
� ��� �	����� �� ��� �
	
���� ��

���
���� I)�����
 +�.J� ���
 ��� �	��
� ��
�� �
�	���� 
	� �
����
��� ���
� ��� !
	�
���

�
������ I)�����
 D�.J���
 )�
�� 
� T = 0 ���� �	����� �� ����!
��
� �� 
 %�	�� ������
������ 

� 

 �
��	��� ��������� ���
�1/2 ���	�� �� �	������ �
 �	�
����� ��� �	���
�� ��
��� 	�����
� ���
 ������ 
�� 
���� ��� �
�	�� ����	�
�� �
 

� �
� 

� ��� ��
����

��
��	���
 ������ 
����� "� ����� ��3��� ��
� ��� �	����� �� �����	 ��� ��� �� ��� !
	�
���

�
������ ��	 
 �	����� ���� ����
�	
�� �	��
� ��
�� �	 ��� !�	� ���� I���
	������J 
��	�
��
�� ��� T = 0 &��� ���
��
� �
 �����	 �
��� ��� �	����� ����� �� �� ������
���

� �



��	� 

� 
�� 
 ��
3
��� �� ��� ��	�
���� ��	 ��� %�

���� �� ������ �� 	��
	3�� ��
�
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��
	�� �	

���	 ������
 ��� ��
������
 �

�� ����
������� 3
��
 
�
�%�	�� ������ &���
���
��� 
���	� ���	���	� 
�� ������� ���� &
��� ��
����

�� �	�� ���� �� 	���� ��
������
 ��
�

	� 
�����
	��� %�	�� �������� ���� ������� ��
� ��� ��
� ��	���
 ����� ��	 

� ������
�
������ �
 ����� ��
����

�� �
����
���
� �
3�� 

� ��
�� 
� 
��� ���� �� �� �
�	�� ��
�	
��
H
��	��

����� �
 
 ������ ���� !�	� ��
�� �
�	�� ��
��� �	 !�	� ���� 
��	�
�� �� ��� %F
&��� ���
�� �
����
���
� �� �
�	�� 
	� ���	
����
��� ��
�� 

 �������
��� �
	�� 
�����
	�
	�
� ������ �� 	����	��� ��� �
����
���
 �� ��� ��
���
	����� ��
�� ������ ���
� E@G �� ���
������ �� ������ �
 ���� �
����

 �� 5	���6��$�		� �������

>��	 

� ��
�	��
 ��
����	�� ��� �	����� �� �	

���	� ��	���� 

 �
��	
���
� 	����

�������� ������
 ��� ��
������
 ��
�� �
 ���� ��
�	
�������� ��� ������ �� ����	���� ��
��� ��
�	�� 2
�����
�

*

H =
∑

k,α∈L,R

c†kαckα + Hint({d†
n}, {dn}) +

∑
n,k,α∈L,R

(
Vkα,nc

†
kαdn + ����

)
. I0�/DJ

9��	
��	 c†kα �	�
��� 

 �����	�
 ���� ����
��� k �
 ������
 α �
 �����	 ��� ���� IFJ �	 ���
	���� ��
� I@J� ����� ���	
��	� d†

n ��	� 
 �������� �	���
�	�
� ��� �� �	�
���
 ���	
��	� �

��� �
��	
���
� 	����
� 2�	� α 

� n 
	� �������
����� ����� �
����� 
�� ��

��� 
����	�
��
� 
	� 
�����
	� �� �
������ ������� ��� ��
�� I�
 
������
 �� ����
��� k ��	 ��
�
�����	�
�J� "
 ����	 ��	��� α �
� �
����� ���
 

� �	���
� ��

��� 
����	�� 
� ���� 
� 

�
��	
� ���� ��

��� 
����	 �
���
��
� ��� ��

���
���
 ��!�� �� ��� ��
�� �
 ��� �
��	
�
��
&
���
� ����
��
� �� ��� ��
� �	 �� ��� ��
�
�� 
	�
� "
��� n �����
��� �
������ ����
�
��� 

� ���
� H��
� #������ ��	�
�������� ��� ���	�����
 ��	 ��		�
� �� ��	�!�� �� �����

I =
ie

2h

∫
dε
(
Tr
{[

fL(ε)ΓL − fR(ε)ΓR
]
(Gr − Ga)

}
+ Tr

{(
ΓL − ΓR

)
G<
})

, I0�/0J

����
ΓL

n,m = 2π
∑
α∈L

ρα(ε)V α,n(ε) [V α,m(ε)]∗ . I0�/-J

Gr� Ga 

� G< 
	� 	��
	���� 
�!

��� 

� �����	 G	��
�� ��
����
 �
�	����� 	�������!���
I��� @��� .5/ 

� $���
��� =J� ρα(ε) �� ��� ��
���� �� ��
��� �
 ��


�� α 

� Vα,n(ε)
���
�� Vkα,n ��	 ε = εkα� %�	��� �	
� ����	������
 ��
����
� 
	� ��!�
 �� fL(ε) = [1 +
exp((ε − µL)/kBT )]−1 

� 

 


������ ���	�����
 ��	 fR� ��� ���	����	
�
 ��
� !���
��
V �� ��&
�� 
� µL − µR = eV � "
 �������	��� fL(ε) = fR(ε) = feq(ε) 

�� ��	���	��	��
G< = −feq(G

r −Ga)� ���	���	� ��� ��		�
� !

������

H��
��� ��� ��

�� ������
� �� ���
���
��	!�
� 

� ��� �����
� �����
�� V α,m 
	� ��
��

�
�
 ���
 �
������ ���
 n 

� m �
����� �� Γ �
�	���� ���� �� �� ��� �
�� ���
 

� ���
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������
� �
�	���� Γ �
!� ����3���
��

� ��	����	� ���� 	������ �� ���
*

Γ =

[
Γ↑↑ 0
0 Γ↓↓

]
I0�/+J

���� Γ↑↓ = Γ↓↑ ≡ 0� "
 >��	���
�	��
 ��	���
� ��� Γ �
�	�� 
��
�� ��������������� 

G	��
 ��
����
 �
�	�� 

� 
 �	
�� �� ��	��	���� �� &
�

Tr

{[
Γ↑↑ 0
0 Γ↓↓

] [
G↑↑ G↑↓
G↓↑ G↓↓

]}
= Tr

[
Γ↑↑G↑↑ Γ↑↑G↑↓
Γ↓↓G↓↑ Γ↓↓G↓↓

]
= Tr (Γ↑↑G↑↑)+Tr (Γ↓↓G↓↓) .

I0�/5J
��� ����	�

� ��
������
 �
� �

 �	
� �	�� ���� �
����
���
 �� ��
� �
 ��� �
�� �� ���
�
��
��	!�
� ��

���
�� �� �
�� 
��� ��
����	 ��� G	��
�� ��
����
� ��
� 
	� ��
��

� �
 ����	
���
 �
���� "� ��� �	����� ��� �
 
������
� ���
�����	����� �� ��P��� �� ��
����	 
 ��
��� ���

�	�6�����
 

� ���
 �������� ��� &

� 	����� �� .�

%�	 ��� ��	����� �� ���� ��	3� " ��
����	 ��� �����
���
���
 �� ��
�������� ��


��� ����
���
 ���	�� �� �	����� I
� �	���
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�	
��J 

� ���
���
��	!�
� ��

�� ������
� ���
��	���� �� ��� ��
�	
� 2
�����
�



H =
∑

k,α={L,R},µ
εkµc†kαµckαµ+Hint({d†

nµ}, {dnµ})+
∑

n,k,α={L,R},µ

(
V αµ

k,nc†kαµdnµ + ����
)

. I0�/CJ

E�� ��� ��


�� �
��� α �
3�� �
�� ��� !
����� L 

� R� 

� n �
����� ����� �
 ��� �
��	�

���
� 	����
� ���
 µ �
� ���
 �
���	�� ��� 

� �� 
�� 
���
	� ���������� �
 ��� ���	�����
��
��� >��	���
�	��
 ��	���
 ��	 ��		�
� �� 	��	����
 
�

I =
ie

2h

∫
dε
∑

µ

(
Tr
{[

fL(ε)ΓLµ − fR(ε)ΓRµ
]
(Grµ −Gaµ)

}
+ Tr

{(
ΓLµ − ΓRµ

)
G<µ
})

,

I0�.4J
����

ΓLµ
n,m = 2πρL(ε)V Lµ,n(ε)

[
V Lµ,m(ε)

]∗
. I0�./J

"� ������ �� 
��	���
��� ��
� >��	���
�	��
 
��	�
�� 
������ �
��	 !�	� ��
�	
� ��
���
���
� I��	 ��
����� ��� ������ 
��� 
�� �� �
 
 %�	��������� �	��
� ��
��J�

�!"!� $��������
��� ��	���



�� 
�� ��
����	 ��� �
�� �� �	���	���

�� ������
� ���	� ��� ������
�� �� ��� ��
�� ����	
�
�� �� 
 ��
��

� �
���	� �� ��
� ΓL(ε) = λΓR(ε) ��	 
�� �
�	����� ��� �����	 G	��
��
��
����
 G< ���
 �

���� �	�� 
 ������	���� ���	�����
 ��	 ��		�
� ����� �
3�� 
 ������	
��	�*

I = −2e

h

∫
dε [fL(ε) − fR(ε)]

∑
µ

Im Tr [ΓµGrµ] , I0�..J



5. ������	 �� ������� �	�����	� ����	�

���	�

Γµ ≡ ΓLµΓRµ/(ΓLµ + ΓRµ) = ΓLµ λ

1 + λ
. I0�.,J

E��� ��
� �
 ��� ������	�� �
�� ΓL = ΓR� ���� λ = 1� �� �
!� Γ = ΓL/2�

��� ��	����
� ����	�
��
� ��
����

�� G(T ) = (dI/dV )V =0 �� ��!�
 ��

G(T ) = −G0

∫
dε

1

2T (1 + cosh(ε/kBT ))

∑
µ

Im Tr [ΓµGrµ(ε)] . I0�.DJ

�
3�
� ��� ��	�������	
��	� ����� 

� 
���
� ��
�

lim
T→0

1

2T (1 + cosh(ε/kBT ))
= δ(ε), I0�.0J

�� ���
�
 I��	 	�
� ΓJ

G(T = 0) = −G0

∑
µ

Tr [ΓµIm Grµ(ε = 0)] . I0�.-J

�����������; ������'�������� �������� �����

"� 
 ��
��� ��� �� ������� �� ��� ��
��� ��� �
�	�� Γµ 	������ �� 
 ��
�
	 ��

���� Γµ 

�
��� ��		�
� �� ����	��
�� �� ��� �����	
� ��
����
 Aµ = − 1

π
ImGrµ �� ��� ��� 
� ε = 0*

G = G0π [Γ↑A↑(ε = 0) + Γ↓A↓(ε = 0)] . I0�.+J

%�	 ���
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∑
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∑
kαµ

εkc
†
kαµckαµ +

∑
α

Jαsα · S, I-�CJ

���	� α = 1, 2 �� ��� ��


�� �
��� 

� sα �� ��� �����	�
 ���
���
���� 
� ��� ����	��� ����
�� ��


�� α*

sα =
∑
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2 I��� �����J�

��� ��� ��


��� 
	� ��	�
��� ������� ��	���� ��� ����	��� ���
 ���	
��	� ��� ���
� ��
��
������
 �����	�
� 
� ��� ����	��� ���� ��
� �� �� ����� �������	 �� ��	� 
 ���
� ���

S = 1���� %�	 �
&
��� ������
� J � ��� ����	��� ���
 ����� ���	���	� �� �!�	���	��
��� ��
�
�
���
� �
���
� �� ��
� ��� ����� ��
��� �
�� 
 ��	�
��������
� &��� ���
� ���� 
 &
���
!
��� �� ��� ������
� ��
��

�� ���	� ��� ��	��
�
� �� ��	�����
��������� $ &��� ���
� ����
&
��� ������
� ��
�� �� �	����
� ���
!��	 

� �� ����	��
� ����
��
��� �
 ���	����

���
�	���	���� 
� H 

� T ��
� �� ��	� I��� �	����
� ���
� �� H = T = 0J� ��� �	��
� ��
�� ��

�� 
 ��
���� 

� ��� �
�	��� 
� ��	� �����	
��	� �� &
��� S(T = 0) = ln 2/2�������������
�

��� %��� -�,�

0

1/8

1/4

k B
T

χ(
T

)/
(g

µ B
)2

0
0.0001
0.0002
0.0003
0.0005
0.001
0.005
0.01

-12 -10 -8 -6 -4 -2 0
log

10
(T/D)

0

ln2/2

ln2

s(
T

)/
k B

ρJ
avg

=0.075

∆

%���	� -�,* "���	��� ��
�	������
 �� �
�
���� �������������� 

� �
�	��� �
 ��� ������


��
#�
�� ����� ��	 ����	�
� !
���� �� ��� �
	
����	 ∆ = ρ(J1 − J2)� E@G �
	
����	� 
	�
Λ = 4� β̄ = 0.75� ����� 8ωN �	 
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∑
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π
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���� ��� ������ �� �
��
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∗
2 ) ≡ −E∗

d . I-�/-J

�	 E∗
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π
ln (−U/E∗

d)� ��� ��
�����
 ��	 ��� ������
�� �� ��� �" 	����� ��

−εd � Γ

π ln(U/γ)
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� ��	�� Vk �
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�� 	����	� ��
�
H̄ ≡ eSHe−S I-�/CJ

�
!� 
� ��	�� ����� 
	� &	�� �	��	 �
 Vk� �� ���

� H̄ �
 ��	�� �� 
����� ������
��	�*

H̄ = H + [S, H ] +
1

2
[S, [S, H ]] + . . . I-�.4J



� �	��� H = H0 + Hc� ���	� H0 = Hband + Himp� �� ������ S �� �� &	�� �	��	 �
 Vk
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Heff = H0 +
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2
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S =
∑
kµ

∑
α=±

Vk

εk − εα

nα
−µc†kµdµ − 2��� I-�.,J

���� ε± = δ ± U/2 

� ��� �	�6�����
 ���	
��	� nα
−µ 
	� ��&
�� ��

n+
−µ = n−µ,

n−
−µ = 1 − n−µ.

I-�.DJ

2�	� α = + ��		����
�� �� !�	��
� �	

�����
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HKondo = Hband + J
∑
k,k′

∑
µ,µ′

S ·
(
c†kµ

σµµ′

2
ck′,µ′
)

+ K
∑
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∑
µ

c†kµck′µ. I-�.0J
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π

(
1

−εd
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=

2Γ

π
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1

U
2
− δ

+
1

U
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+ δ

)
=

8Γ

πU

1

1 − 4(δ/U)2
, I-�.-J
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=

Γ
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(
1

U
2
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− 1
U
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+ δ

)
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δ

2U
ρJ. I-�.+J

2�	� Γ = πρV 2� ����� ���	�����
� ���� ��	 δ 
 U 

� ��	 
 L
� ��
���� �� ��
���
ρ = 1/(2D)� "
 ��� V F 	����� Iδ → U/2J� ��� ����	�����	���
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E∗
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 �� �
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)
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������ Deff �� ��!�
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��
� ln T
���
!��	 
	� �
	��������3� 

� �
�� 
	� �������3�*���

Deff =
√

D1D2 I-�.CJ

���� ln Di = ln(Wi/4) + 1/4 

� W1 = γ|U/2 + δ|� W2 = γ|U/2 − δ|� ���	� γ =
(2/π) exp C ≈ 1.13387 

� C �� ����	�� ��
��

�� �� ���
�


Deff =
γe1/4

8
U
√

1 − 4(δ/U)2, I-�,4J

����� ��!�� �
 ��� �
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� Iδ = 0J

Deff = 0.182U. I-�,/J
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1µd2µ + ����)

Hc = −
∑

i=1,2;α=L,R

tiαd†
iµf0αµ + ����
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2

(
d†

1↓d
†
1↑ − d†

2↓d
†
2↑
)

U

.� 1√
A2

(
d†

1↓d
†
1↑ + B2

(
d†

1↓d
†
2↑ − d†

1↑d
†
2↓
)

+ d†
2↓d

†
2↑
)

U/2 − 1
2

√
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√
16t2+U2)
4t2

U+
√

16t2+U2

4t

, 4 +
U(U−√

16t2+U2)
4t2

U−√
16t2+U2

4t

�
��� +�/* ����
��
��� 

� ����
�
�	���� ��	 ��������� ������ ��

��� ���

"
 ��� �
	���������� ������	�� ���
� Iδ = 0J� ��	 

� t/U ��� �	��
� ��
�� �� (0, 0, 2)�
����� ��� &	�� ������� ��
�� �� ��� �	����� ��
�� (0, 1, 1)� $�� ����	 ��
��� 
	� 
� ��
�� U/2
�����	 �
 �
�	��� %�	 U � Γ 

� U � t� ��� �����
���
 �� �
�� ��� �� n ∼ 1 

� ����
�
�	�� �����
���
� 
	� ���
 L����
���
����� ��� ������!� 2
�����
�

 �
3�� ��� ��	� �� 




/45 ������	 �� �	���	���� �� � ������	��� ��
���

��������	��� #�
�� �����*
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∑
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JRKKY ∼ U(ρJK)2 =
64

π2

Γ2

U
. I+�/0J
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��*
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∑
kµα
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εk − εα
nα

i,−µc
†
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∑
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 1, I+�.-J
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√
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√
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|1, 1, 0, 0〉 = g†
↑u

†
↑|0〉,

|1, 0, 0, 0〉 = 1/
√

2
(
u†
↑g

†
↓ + g†

↑u
†
↓
)
|0〉,

|1,−1, 0, 0〉 = g†
↓u

†
↓|0〉,

|S = 0, I = 0〉 = 1/
√
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u†
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†
↓ − g†

↑u
†
↓
)
|0〉.

I+�D.J

��� ���	 	��
�
�
� ��
��� 
	� ���	���	� 
 �	����� �� 
 ���
�������� �
 ��� ��	
�� �	���
�


� 
 ���
�������� �
 ��� �
��	
�� �	���
��  �� �� ��� ������	� �� ��	 �	������ �
�� ���
��	
�� �	���
� ������� �� ��� ��
��� ����� ��� �
��	
�� �	���
� �� �
��	��� ���������� ���
�����	�
 �
 ��� ��	
�� �	���
� �
��	���� S = 1/2 #�
�� ��	��
�
�� ����� ��� �
��	��
��
�����	�
 �
 ��� �
��	
�� �	���
� �� 	����
����� ��	 ��� 	�����
� �������� ����
�	
���

)!�!> ?
��	�� ��	���

 �� ��� ��
��
		�

�� &

��� ����� ��� 2
�����
�

 ��
� 
����� ��	 �
���
� ���	����
���
� Γi = πρ|V i
kF
|2�

�� ��� V 2
k = αV 1

k � ���� Γ2 = α2Γ1� ��� ������!� ���������	
��	� 2
�����
�

 �

 �� 
��
�	����
 
�

Heff = Hband + s ·
2∑

i=1

JK,iSi − Jeff
RKKYS1 · S2. I+�D,J
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� TK ����	��
�� ���
�
��� I+�/DJ �����
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�!� 
	����
� ��!�
 �
 ��� I+�D-J �
��� �� ����	��� ��� 
���
�
#�
�� ��
�� ��	 α � 0.4 
� ���
 �	�� %��� +�/,� ���� �� ��� �� 
������	� �� ��� ��
���� ��
���
����� 
��� 	�
�	�
����� JK � �!�
 ������ ��� ��
���� �� ���
	
��� �� Jeff

RKKY � TK �	��
��� �	����� �����
��� E��� ����!�	� ��
� Jeff

RKKY �� ���� ����	���� �� ��� ������ ���	�����

��!�
 �
 ��� I+�DDJ 
� ����
 �
 %��� +�/,�

=� ��	��	��
� 
 ����
���	��	 @G �
����
���
 I��� $���
���  J� ����� �
3�� ��� 
������	�
�� ��� ��
���� ��
�� �
�� 
����
�� �� ���
�
 TK 
� 
 ��
����
 �� α ����� 
�	��� !�	� ���� ����
��� E@G 	������� ��� %��� +�/,� ��� �������
� ������!� ���������	
��	� #�
�� 2
�����
�


�� ����*

Heff = Hband + J1s · S1 + J2s · S2 − Jeff
RKKY (S1 · S2 − 1/4) , I+�D+J

���	� " �
!� 
���� 
 
�
����
�&�

� 
�����!� ��
��

� JRKKY/4� "
�	�����
� ���
�/
���	
��	 S ��&
�� �� ��� �������
� 2���
	� ���	
��	 ���	�����
�* Sz = X↑↑ − X↓↓�
S+ =

√
2 (X↑0 + X0↓) 

� S− = (S+)†� �� ���
�


H = Hband + J̃s · S + Jeff
RKKYXSS

+ ∆
(
sz(X0S + XS0) + s+(X↓S − XS↑)

+ s−(XS↓ − X↑S)
)
,

I+�D5J

���	� �
��� S ��
���� ��� ��
���� ��
�� 

� �� �
!�

J̃ =
J1 + J2

2
= J0(1 + α2)/2,

∆ =
J1 − J2

2
= J0(1 − α2)/2.

I+�DCJ

���
���
� I �DJ 	����� �� ��� ���
���
� ��	 J̃ 

� ∆

δJ̃ = ρ0|δD|
[

J̃2

D
+

∆2

D + Jeff
RKKY

]
,

δ∆ = −2ρ0
|δD|
D

∆J̃ .

I+�04J
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dJ̃

dl
= −ρ0J̃

2 − ρ0
∆2D

D + Jeff
RKKY

,

d∆

dl
= −2ρ0∆J̃ ,

I+�0/J

���	� l = log D� ��� �
���
� �

������ D �� ��� ������!� �
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$
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� �� �
3� J̃(l = log Deff) = J̃ 
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��������
� &��� ���
�� ���� S = 1/2 	�����
�
���
� ����� ��	 δ > δc� ��� ���������	
��	� &��� ���
�� ��� �
 
 ��
� �� �	�������	��� &���
���
��� "
 ��� δ > δc 	������ ��� ��
����

�� ���� ��	���� 
 �
����� �� ��
�����!���

�
	 δ = U/2� ���
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H = Hband + Hdots + Hc I+�0.J
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kµ εkc
†
kµckµ 
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� Hc 
	� ��� ����	��� 
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∑
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√
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∑
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†
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 ���
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����� �

 �� �
	
���	���� 
�

T =
(q + ε)2

1 + ε2
= 1 +

q2 − 1 + 2qε

1 + ε2
, I+�05J

���	� ε = (E − E0)/(Γ/2) �� 
 	���
��� �
�	��� E0 �� ��� 	���


�� �������
� Γ ��� ������
����� q �� ��� %

� �
	
����	 ��
� ����	��
�� ��� ��	� �� ��� 	���


��� '�����
���� q ��
��� 	
��� ������
 	���


� 

� ��	��� ��
���	�
� �	��
������� "
 ��� ����� q → ∞� ��� %

�
	���


�� ���� �
�� ��� =	�������
�	 IF�	�
���

J 	���


��� ����� �
 ��� q → 0 ����� ��
�
� ��� 
���
	

�� �� 
 ������	�� ����

%

� 	���


��� �
!� ���
 �������� �
 1 � 

� )����������	 �
 1 � �������� �
 $�
	�
�!�
=��� �
��	��	�����	���� 

� �
 ��

��� ��	�� ���� ������������ 1 ����

"
 ��	 �
��� ��� %

� 	���


�� �� 
 ��
�����
�� �� 
 �����
 ��
	��
� �� ��� 
�
	�� ���
������� ��� 2� 
� ��� �
�	�� ε �	����� ��� %�	�� ��!�� 
� εF = 0� >�

������ ��� �����	�

��
���� �
 ��� ��� 1 	��
�
� 
 ������ ��
����
 �� δ� 
� ���
 �	�� 〈n1〉 �
 %�� +�./�� ����
�

 �� ��
���
��!��� �
��	����� �	�� 
 ������ 
�
�
��	
���
� �����

H = ε1|1〉〈1| + ε2|2〉〈2| + t (|1〉〈2|+ ����) . I+�0CJ

H��
� ��� G	��
�� ��
����
 ������ I)��� D�/J �� ���
�
 ��� �������
� ���	�����
 ��	 ��
�
����

��

G = G0
4ε2

2(t
′)4

ε2
2(ε

2
1 + 4(t′)4) − 2ε1ε2t2 + t4

, I+�-4J
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���

���	� t′ �� ��� ������
� �� ����	��� 1 �� ��� ��
�� �
 ��� ��������
��
� ����	�����
� (�
�
����

�� �� ���
	�� ��	� ���
 ��� �
����� �
�	�� ε2 �� ��� ������������ ��� �	����� ���
%�	�� ��!��� "� ��� ��!��� 
	� ������� ���
� ��� �
���!���
�� Iε1 = Vg 

� ε2 = Vg − ∆�
���	� ∆ �� ��� ����
�
� �
	
����	J� �� &
� ��
� G = 0 
� Vg = ∆ 

� G = G0 
�
Vg = 1

2
(∆ +

√
∆2 + 4t2)� ��� ����� �� ��� %

� 	���


�� �� �	���	���

� �� ��� �
�	��

����	�
�� ������
 ����� ���	��
*

w = 1
2
(
√

∆2 + 4t2 − ∆) ∼ t2

∆
+ O(t4). I+�-/J

"
 ��� �
��	
���
� �
��� �� �
� ���	�!� ���� �
����
���
 ���
� 
 ������ ������ �� ����
��
����	 ��� ���
� 2
�����
�

 H �
 ��� t = 0 ����� ��
���� 

� ���
 ������ ��� ���
���������� ���
� ��	��	�
���
 ����	�� %�	 t = 0� ��� ��
�� G	��
�� ��
����
 �� ����	��� 1

� ω = 0 ��

G0
1 = 1/(iΓ − Γ cotφ) = −cos φ sin φ

Γ
− i

sin2 φ

Γ
= −sin φ

Γ
eiφ, I+�-.J

���	� φ �� ��� ��
���	�
� ��
�� ����� ��	 ��
��� ����	��� ������ ���� �� ������ 

 ���	�����

�� ��� %	����� ��� 	������ 

� ������� �	�� I
�� ��

������ 
	� �!
��
��� 
� ω = 0J

2iφ = ln
(GR(0)[GA(0)]−1

)
�	 φ = arg GR(0) I+�-,J



�
Im Σ = Γ, I+�-DJ

���� ��� ��
��

	� �
	� �� ��� ������
�	�� �� ��� �
�� �� ���	����
���
���	���� E�
	 δ = U/2�
��� ��
����

�� �� )"$> �� G ≈ G0/2� ���� φ ∼ π/4� "���	��� 2 �� ��������� 

�
��� G	��
�� ��
����
 �� 3
��
 ��
����� ��� ����� �� ����	��� 2 �
 ��� t �= 0 �� �
3�

�
�� 
����
� ���
� ��	��	�
���
 ����	� 

� ��� ���� G	��
�� ��
����
 �� ���
�
�� �	�� ���
 ���
�� ���
���


G1 = G0
1 + G0

1ΣG1 =
G0

1

1 − ΣG0
1

= G0
1/(1 − t2G0

1G0
2), I+�-0J

��
�� ��� ������
�	�� �� Σ = t2G0
2 � %�	 ��� %

� 	���


�� 
� ε = δ−U/2 ∼ 0� �� 3��� �
��

��� �����
�	�� ���� �
 ��� G	��
�� ��
����
 �� ����	��� .�

G0
2(ω) ≈ z

ω−ε+iη
, I+�--J

���	� z = 1
2
��	 ε < 0 

� z = 1 ��	 ε > 0� ��� ��
����

�� G = G0πΓ(−1/πImG1) ��

G = G0
2Γ2ε2 sin2 φ

z2t4 + 2Γ2ε2 − z2t4 cos(2φ) − 2zt2εΓ sin(2φ)
. I+�-+J

@������ �� ��� E@G �
����
���
 
	� ����
	�� �� ��� �	�������
 �	�� ��� +�-+ �
 ��� �
���
�� %��� +�./�� �� ��� ��
� ��
�	
� ��
��	�� 
	� 
����
���� ����	����� ��� ���	� 
	� ������
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 �������	����� /D/

����	�
��� ��� �� 
�
���	��	�
��!� �����	�
 ��		��
���
 ������� E���	��
��� �
����
���
%

� 	���


�� �� ����	 ��

 ��� �����


�����
� �	�������
 

� G ���� 
�� �	�� �� ��	��
"
 �
	�����
	� �	�� ��� +�-+ �� ������� ��
� G = 0 
� δ = U/2 I�	 ε = 0J 

� G = G0 
�
δ = U/2 + t2 tanφ/Γ� ����� ���
��� 
	� 
�� ��		���	
��� �� E@G 	������ ����� ����� ��	
��
����� ������
 ��
����

�� 
� ε = 0�

���� �
�	�
��
� t� ��� ����� �� ��� 	���


�� �
�	�
���� 
� ����
 ��	 t/D = 0.01 �

%��� +�./�� %�	 t � 0.1� ��� 	���


�� ��	��� ���� ��� #�
�� ��
��
� 

� ���
���
	� I���
%��� +�/-
J�

)!"!" 6��' �
���%��� ��	���

. ��� �9�%���
� ;�
�� �5���

��� ��
������ &
��
 ����� �� 
 ��
�	�� 

�� ��	 ��������!� #�
�� ��	��
�
� �� ��� ����	���
���
� ����
�� 
� ����	�
� �����	
��	����
�����	��	������������� ���� ��	� �
� ���
 ���� �

��� ����	�
� I��� ������� 	��
���J ��
�����* /J ��� ���� ��	��
�
� �� S = 1 ���
 �
 ���
������


�� �
����	� .J ��� ���� ��	��
�
� �� ��� ���
� ����
�� �
 ��� ��
������


��
�
������������ "
 ��� &	�� �
��� ��� &	�����
�� #�
�� ��	��
�
� �� 

 �
��	��	��
�� S = 1
#�
�� ����� ����� 	������ ��� ���
 �� 1/2� ����� ��� ����
����
�� #�
�� ��	��
�
� �� 

��	�������	��
�
� S = 1/2 #�
�� ����� ����� ��
�� �� 
 ���
 ��
���� �	��
� ��
���������

"
 ��� ����
� �
��� 
� 
 �����	 #�
�� �����	
��	� T
(1)
K ��� #�
�� ����� ����	� �
 ���

��	� ��	�
��� ������� ����	���� ��� %�	�� ������ ��
���
	������ 
�����
��� ���� ��� #�
��
����� �
 ��� &	�� ����	��� �
	�����
�� �
 ��� #�
�� ��	��
�
� �� ��� ����
� ����	��� �



 ����
�
��
��� 	������ #�
�� �����	
��	� ��
�� T

(2)
K ������������ ��� &	�� �
�� �� 	���!

�

���
 ��� �	��
� ��
�� �� 
 �	������ ����� ��� ����
� �
�� ����	� ���
 ��� �	��
� ��
�� ��

 ��
����� ��� ���	� �� 
 
�
	�� ������� �	����� ��
����� "
 �
��� ��� ��� �
��� 
	� ��

�����
��	���� 
 ��

��� ��
�� �	

�����
 ����� ����	� 
� ��� ����
�	
�� ���
� ������
 ���
��
���� 

� �	����� ��
��������� ���� 
��� ����
��	
��� ��� ��

�����
 ������
 ��� ������
��
#�
�� ����� 

� ��� Q��
������	�����R #�
�� ��������

"
 ��� �
�� �� ��� ������������  1 � ��� �
��	�����	��� ����

�� �
��	
����
 �� 

����		��
�
�
���� 

� �� �� ��!�
 �� ��� ����	����

�� ���	�����


J =
t

2

⎛
⎝
√(

U

t

)2

+ 16 − U

t

⎞
⎠ ≈ 4t2

U
. I+�-5J

��� ������
�� #�
�� ����� �� ��� ����
� ���� ����	� ���
 J < TK � ���	� TK = T
(1)
K ��

��� #�
�� �����	
��	� �� ��� )"$> ��
� ����	���� ����	��� / I������� ����	��� .J��������

��� ����
� #�
�� �	����!�	 ���
 ����	� 
�

T
(2)
K = c2T

(1)
K exp(−c1T

(1)
K /J). I+�-CJ

(�
��

�� c1 

� c2 
	� �� ��� �	��	 �� / 

� ���� 
	� �	����������
��
�� ��� �����	
�
��
����
 A1(ω) �� ����	��� / �
�	�
��� 
� ω ∼ T

(1)
K � ��� ���
 �	��� 
� ω ∼ T

(2)
K � ���� ���	�
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�� �� !
���� ��
��� �
��	��� �����
� �
	
����	 t�

�� 
 �
� �
 ��� �����	
� ��
����
 

� ��� ������ �� 
�
���
�����
� 
� ��	� �����	
��	��
%��� +�..� "
 �
�
���� �������������� ������ ��� ������
�� #�
�� ����� �

������ 
� ���
��������!� ���	�
��� �� ��� �������������� ����� ���� �
!� ��� ��	� �� ��� �
�!�	�
� S = 1/2
#�
�� �������������� ��	!��� ��� &	�� �	�� 1/2 �� 1/4 ����	� 
� T ∼ TK 

� ��� ����
�
�	�� 1/4 �� 0 
� T

(2)
K ���� %��� +�.,�

"�� ����!�	� J > TK � ��� ����	��� ���
� ��
� �
 
 ��
���� ����	� 

� #�
�� ����� �


����	� ���	� �� 
�
�
 
 �
� �� ����� J �
 ��� �����	
� ��
����
 

� ��
����

�� �� ��	�
��	 T < J � "� ������ �� 
���� ��
� �	�� ��� ��	�������	
��	� ��
����

�� ����� 
��
� ��
�


�� ����	��
� �� ��� ������ �
��	��
� ������
�� #�
�� ��	��
�
� �	 �� 
 ���
� ��
����
�
� ��	���� �
 �
��� ��� T = 0 &��� ���
� �� ��� �
�� �
 ���� �
��� 

�� ��	��!�	� ���
��� 	������ 
	� ��
��
������ ��

���������

�������� ���� ���� ����	�� �� 
�� 	���	
 �� ��� ����	�����
 �� ��� 	������ �	���
��� �

%��� +�./
 ��	 δ < U/2� <��� ����� δ < U/2� J < T

(1)
K 

� ��� ������ �� �
 ��� ������
��

#�
�� 	������ "
 ��� 	

�� �� δ ���	� T �
��� �
 ��� �
��	!
� ��!�
 �� T
(2)
K 
 T 
 T

(1)
K �

��� ��
����

�� �� ����� %�	 ����� ����	 δ� T < T
(2)
K 

� ��� ��
����

�� ���	�
���� %�

����

��	 ������ δ� J > T
(1)
K 

� ��� ������ �� �
 ��� ���
� ��
���� 	����� ���	� ��� ��
����

��

�� ��	�� E@G 	������ ��	 ��� �
� �
 ��� �����	
� ��
����
 A1(ω) �
����
��� 
� T = 0 I���

��	���� 

� ���
	��J ������ 


�����
� 	������ ��	 T

(2)
K (δ) ���
 J < T

(1)
K 

� ���� 
��	�
��

J ���
 J > T
(1)
K � 
� ��������� ��� %��� +�./��

$� ����
 �
 %��� +�./
 ��	 0.3D � δ < U/2� G/G0 �
����
��� 
� T = 10−9D ������� 	������
���
�
�� �
 ��� ��
��� ��

��� ��� �
�� 

� 
��	�
���� !
��� /� ��� ���
 ��

��� 
����	
S �
 %��� +�./� 	�
���� ��� !
��� S ∼ 0.8� ��
�����
� ���� ��� 	����� ���
�
�� ��	 
 ������
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%���	� +�.,* )��
 �������������� 

� �����&� ��
� �� ��� ������������ ������ ��

��� ���
��	 
 	

�� �� !
���� �� ��� �
��	��� �����
� �
	
����	 t� �� ����
 �� �
��	 ��� ������
��
#�
�� 	����� ��	 t/D � 1.8 10−4�

�� ��� ��������� ���
�/N. �
	������� ���	� 〈Ŝ2〉 = 3/2� ���� 	����� �� 
��� �
 
�	����
�
���� 〈n〉 ∼ 2 

� ��� ��
�� !
��� �� ��� ���
����
 ��		��
���
 ��
����
 〈S1 · S2〉� �	���
���
�
 %��� +�./� 

� +�./� 	�������!����

���� ��	���	 ���	�
��
� �� δ� G/G0 �����
�� �	��� �� ��	� 
� δ � 0.3D� ���� �����

�	�� �� 
��	����
���� ��!�
 �� T ∼ T

(2)
K (δ)� ��� %���� +�./
 

� �� $� ���� ���
� 
 �
�

���
� �
 A1(ω) 
� ω = 0� ����� �
 ��	
 ��
�� �� 
 �	�� �
 ��� ��
�����!���� ��� �������

�� ���� �����
 �	�� �
 ��	�� �� δ �� 	
���	 �
��
����!� �� ��� �����
 T � 
� 
��
	�
� �	��
%��� +�./��

=���� δ � 0.25D� ����� ��		����
�� �� ��� ��
�����
 J ∼ T
(1)
K (δ)� 
��� �	���
��� �


%��� +�./�� ��� ������ �	����� �!�	 �	�� ��� ������
�� #�
�� 	����� �� 
 	����� ���	� ���
�
�
  1 ��	� 
 ��
����� "
 ���� �
�� S ���	�
��� 

� 〈S1·S2〉 ����� ��	�
� 

����		��
�
����
��		��
���
�� %���� +�./� 

� �� ��� ������ �
�	�� ��
�� �
 ��� ������ �� J � ����� ��
�����	��� �� ��� ����	!
���
 ��
� ��� ���� �� ��� �
� �
 A1(ω) I���
 ��	���� �
 %���� +�./�J
�� 
��	����
���� ��!�
 �� J � ��� �
�
 ����	�
�� ������
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��� ��
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	� �� T
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K 
 B 
 T

(1)
K � ��� �� �	��� �� ��	� ��	 B 
 T

(2)
K 

�

��	 B � T
(1)
K � ���� �� ���
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(2)
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�� �� ���� ��	 B ����� T

(1)
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��� �� ��� 
�
	�����
�	
�� �� ��
���� 

� �	����� ��
����

"
 ��� ��	�
�����������  1 � ��� ��
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�� �
��	
����
 �� ��
�	
��� �� ��� ����	����

�� ����

��� ��� �� ���
�����	�
 �����
� � �����
	 ���
!��	 �� ���
� �
 ��� �	���� ��

��� ��� ������ �	���
��� �

��� �������
� ��
���	� ��� ������ !
��� �� B ����
 �
 %��� +�D� �� ���� ����	 ��

 T

(1)
K �

���	���	� ��� ���
!��	 �� �����
	 �� ��� �
� �
 ��� 
���
�� �� ��� &���� ���� ��� ��������

��
� ��� ������� ��
����

�� ���� 
�� ����� 	�
�� ��� �
��
	� ������ %�	 ��	�
��	 &�����
�� ���
�
 ��� ��
������	����� #�
�� ����� 
� �
 ��� �
�� �� ��� ������������  1 �

��� �
	
����  1 �
��	���� S = 1 #�
�� ��	��
�
� ��	 J < JRKKY� ��� �������� !�	�
���� I���
	������J 
��	�
�� �� ��� �
��
	� ��
����

�� ����� �� ���
	�� !������ �
 %��� +�D��
%�	 ��
�� B� ��� ��
����

�� �	��� 
�	����� �� ��	� ���
 J �� �
�	�
��� �
�� JRKKY�



���� 
����� ������� 
��� �� �������� ����
 /D0

0
-6

-4

-2

0

0

0.5

1

-6

-4

-2

0
-6

-4

-2

0

0

1

-6

-4

-2

0
-3

-2

-1

0
0.25
0.5
0.75

-6

-4

-2

G/G0

G/G0

G/G0

log10(B/U)

log10(B/U)

log10(B/U)

log10(J/U)

log10(J/U)

log10(J/U)
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∑
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���� ��� ��
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� ����� �� )�
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 ������
� !���
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��� �� ,04: 	�� ��	 ��	 ������

'	���	�� :
��� H
���

d31 �/�+, MN: 
� .C,#
d33 ,�54 MN: 
� .C,#
d31 �4�,/ MN: 
� D�.#
d33 4�-C MN: 
� D�.#
Y � K��
��� ������� -�, 1010N/m2

$( ������
� &��� + 3:N�� 	��
 ������	�� ��
��

� KT

3 /+.0
(�	�� �����	
��	� ,04 ◦C
���	�
� ��
�����!��� /�0 �N� #
 �
���� +�0 g/cm3
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!���� )�
��	��

 �	�
� 
�	�
� ���	
���
� ��� ����	 ��
	�� ������ 
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 ��������� �� ��!�
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∆Z =
d31L

t
VZ , IC�/J



/+- ������	 #� �������� ��������� ���	������

���	� d31 �� ��� ����������	�� ���P���
�� L ���� ��
��� 

� t �
�� ����3
���� ���� ��!��
35M/V ����� ��
��

� �
 ? ��	�����
 
� 	��� �����	
��	� 

� 6.4M/V 
� F2� �����	
��	�
��	 ��� ��
�	
� ����� ����� 2�	���
�
� �����
����
� �� ��!�
 ���	����	

∆X, ∆Y =
0.9d31L

2

D t
VX , IC�.J

���	� D �� ��� ��
����	 �� ��� ����� %�	 ��� ��
�	
� ����� ���� ��!�� 52M/V ����� ��
��

�

� @� 

� 9.2M/V ����� ��
��
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� F2� �����	
��	�� ����� ��	 ��� ��
	�� ������ ��
���
�
 170M/V 
� @� 
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��� ����������	�� ���
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����	 ��
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��	� ��� 	����
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���� �� ���� ��
��	���
�� �� ����
 �
 %��� C�D� ���
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C =
2KT

3 ε0πL

ln OD/ID
IC�,J

���	� ID = d 

� OD = d + t 
	� �

�	 

� ����	 ��
����	� KT
3 �� ��� �������	�� ��
��
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� ε0 �� ��� !
���� ��	�����!���� ���� ��!�� C = 4.2 nF ��	 ��� ��
�	
� ����� 

� C =
7.5 nF ��	 ��
	�� ������� ���� �� ��	� ��
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�
���

�� �� ��� ��	��� �� ��
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� ���
�
�
���

�� �� 
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� �� ��� ��	�� �
3� ��
�
�� �� ��� �����	���� ���

��� ������ �� 
�	�
�� 
��������� $� 
 ����3 ����� �
� �

 �

�
��� 
���� 
 ���� !���
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�� �� 
 �
�	 �� �����	���� I����� 200 V �
 �
� ����
�J 

� ����	!� ��� �	

���
� ��		�
�
����� ������ 	��� �� 
 ��� µA�

%�	 
�������
� �
	�� ��
� 
��� �� �� ����� �������	� �� ���� �����
� ���������
�
� �����
���� ����� �� ���� 
� ��
3 ��
�
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���� �����
�
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���
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� ��� 6��
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	� !�	� ��	�
�� ������
��� �� ��� ��	�
� �	����� �� ��	��	��� 
� ���!
���
�����	
��	��� (�	�� ���� �

 ������

� �
3����� �����	
��	�� �� �� 125 ◦C� 
� �����	
�����	
��	�� �� ������� �����	�

��� )�> ��� �����	 �� 
��
���� 
� ��� ��
��	 �� ��� ��
�	
� ����� ���� ���
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 �
�
��
��
� �� ����� �
 
 ���
� ��
��� ��	
��� 	�����
��� ������ �
 ��	
� �� ����� �� ��� �
� �� ���
�
�
 ����� ����� ��� ���� 
	� �
�� �� ������ ��
����
 ��	� I��� �����J� ��� ��	� �����
�
�� �
��	��� �
�� 
 ��	�
�� ���� 

� �	������

�� &	�� 
�������� �� ��	� ��� ��
� ���
� 50 µm ����3 �����������
���
��� I2>FJ �����
��	��� �����	 ��	� I(
����	
�
 %�
� ��	� (���

�J ��� ���� �	�!�� �� �� �	����������
������
��� �
 ��� �
���
� ��
��� �� ��	 ��	3 ���
 ��� ������ �
� �� �� 	���
����� ���
�����
���� ��	 ����&�
���
� 

� ��
�
�� ��� ��	�� ��
� �� �	�
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� �� ���
 ���
 ��	�
� �����	�
�� ��	�
�� �� ��� 
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� &��� �� ��� ������ �� ��� ���� ��
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I%��� C�0�J� 

� �	�� ���� 	�
� �� ��� ��
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�
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 ��
��� ������ �
	�
�� ��� ��	�
� �����
���
 ������ I��� �����J� %	�� ��� ��

����	 
� ��� ���� ��
��� 150 µm
�����������
���
��� ��
�
���� ����� I)),/-J ��	�� �
3� ��� ���

�� �� ��� @� ��

����	 
�
��� ��� �� ��� �	����
�� ��
�
���� ����� ��	�� 
	� �����
 ��	 ����	 ��� ��
� ��
�����!��� 

�
I	��
��!���J ��� �����	��
� 	�����

�� �� ∼ 150 Ω� �� ���� 
�� �
���� ��	 ����
� ���	�� 
�
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� ��	 ���	�� �� ��� �	��
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���	�� �
 ��� ���� ��
��� �� ��� FE. 

� F2� 	���	!��	�* ���� 
	� ����� �

����� 

� �������� ������
 ��� !�	� ���
 ���
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	� ���
 ����� �� ��� ���� ��
���� ���	� �� 
� ��
� ��
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� ��� ��� �� ���
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�� �	����
�� ��� ��	�� ���� ��
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���	�� �� FE. �����	
��	� 
� ��� ��� �� ��� FE. 	���	!��	 ���
� �������
���
�����	 �����
� IF
3�)��	� (	���	�
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��J 
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� ��� F2� ���� ��
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� ��� ������ ��
��� �	����
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� ��
3 ����3� IF
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� ��� �����	
��	�
�	
���
� �	�� FE. �� F2� �����	
��	� ���� ����	 �!�	 
 ���� ��
��	 ��
��� �� ��	��
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 �
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� �
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������ �� ��� �����!���
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����&�	
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	� ���	���	� ������� ����
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��� �� ��� �
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#��� ������ ��� ������ /C0

��� V = 805mV� I = 0.6nA� 300 ×
3002

2
��� V = 805mV� I = 0.6nA� 300 ×
3002

2

[01 ]1

[ 11]1

��� V = 805mV� I = 0.76nA� 200 ×
20022
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��� ��������
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����� 	��������
� T =
7 K�



/C- ������	 #� �������� ��������� ���	������

��� U = 200mV� I = 1nA� T = 25K ��� U = 313V� I = 0.96nA� T = 25K

%���	� C�/D* ��
����� �� ��
��� �
3�
 ���� �
��
��� ����

>!�!" �	�����%�������
 ���
��

 9�#��

(����	 �
� 
 �
� �� 5.1 eV 
� ��� %�	�� �
�	�� �
 ��� I///J ��	�����
� ��� ���	� �� 
 (�I///J
��	�
�� ��
�� �

� ����� ��
	�� 
� 450 mV ����� ��� %�	�� ��!�� 
� �

 �� �
��		�� �	��
������������
 ������� 

� ��

���
� �����	���������� )�	�
�� ��
��� ���
� ����
�
��
���
�
 ��� 
�	�
� ��	�����
 ��� 
	� ����
��� �
 ��� �	

�!�	�� ��	�����
� 9
 �������
�3��

���� ���
� ��	�
���� ���� 
� I///J ��	�
��� �� �
�����
��	�� ����� �
������� ��� �����	�
�
��!� 
����� �	���� �
 ��� �
��	
� ����
���
� 

� ��� ��� �

� �� ������ ����	����� ���
�����
 �� ���� ��������
���

� �����	�
 �
� �
 ��	�
��� �� ��
��	�� �� ����	�
� 3�
�� ��
����
����� ���� 
� ���� ������ ������
���
�� ���
� ������� 

� 
���	�
���� )�
���	�
� 
� �����
����
���� ��	��	�� ��� ��	�
�� ��
�� ��
	�� ��
���� 

� ��
�� �� �
!����3� �
���	
� ��
� �


�� ����	!�� ���
� )�>�	�
�	�� ��� ����	!�� �
���	
� 
	� �����	�
 ��

��
� �
!��� �����

	� ����
 ��
���� �� �� %	����� ������
���
�� )�	����� ���
3�
�� �	�� %	����� ������
���
� 
	�
������ ��
���� Iρ(r)J ������
���
� 
	��
� ����	������	�� ��
� �� ����	!� �
 �����	
����
)�> ��
��� 
	� 	
���	 �
�	���	����!�� ��
	�����
���� In(r, E)J %	����� ������
���
��	�� ���
��� ��

������ 
	� 	��
��� ��

ρ(r) = −e

∫ EF

−∞
n(r, E)dE, IC�/4J

���	� EF �� ��� %�	�� �
�	���

�� �
!� ����	!�� ��

��
� �
!�� 
	��
� ����	����� �
 (�I///J� %��� C�/0� 9
 ������
������	�� ��	�
��� ���� 
� (�I///J ��
���	�
� �
 
���	��� 
���� �� ����	���� �� 
 ����

��	����
���
� ���� ��� �
���	
� 
	� ��	���
	� $� ��� %�	�� ��!��� ��	�
�� ��
�� �����	�
�
�
!� 
 �
!���
��� �� 
��	����
���� /D �
��	�
����� ����

���� ��� �
� ������ 	��
�� ��
�



#��� ������ ��� ������ /C+

��� U = 98mV� I = 0.56nA� T =
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��� U = 89mV� I = 0.76nA� T =
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$� (� �
 ���3 300 − 700 K D�0..
$�I///J (� 70 K D�0.,
$�I///J (�2 
 6 K 0.,
$�I///J (� 92 K 0/D�0.D

(� (� �
 ���3 ∼ 500 K 0.0
(�I///J (� 53 ± 3 K D.-
(�I///J (� �������� 405 ± 35 K 0.-
(�I///J (� 54 ± 2 K 0.0

(�I/44J (� 88 ± 4 K 0.0
(�I/44J (�I(9J2 165 ± 21 K /0
(�I/44J (�I(9J3 170 ± 16 K /0
(�I/44J (�I(9J4 283 ± 36 K /0
(�I/44J I(�I(9J2J2 138 ± 21 K /0
(�I/44J I(�I(9J2J2 176 ± 13 K /0

$�I///J (�'( 
 5 K D.C
$�I///J ��(�'( 208 K D.C
(�I/44J %� < 60 K /0
(�I/44J %�I(9J4 140 ± 23 K /0
$�I///J �� 70 K 0.+
$�I///J E� 100 ± 20 K� ����� !
��
� /,� 0.+
$�I///J E�2 42 ± 5 K /,
$�I/44J �� 40 K 0.5
$�I///J (� 580 K 0
$�I///J :� (	� >
� %� < 6 K 0.+
$�I///J (	 
 7 K /D
$�I///J (	3� �����
��	
� 50 K /D
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�
I��	 ��
���� E�N$�I///J	��J� 9
� ���� ���� �� !�	� �
	���� ���
 ���	
���
� Deff 

� J
�	�� ����	���
�
��� ����	��
�� TK �

>�
��	�� �����	
��	� ����
��
�� �� ��� 	���


�������� 
�	��� ���� ����	����
� �	�����
���
� �� �	�
��
�
� ��	 #�
�� ����	����� �
 ��� %�	�� ������ I%FJ 	��������
�	�� "
 ���
%F 	������ �
� �

 �
3� ��� �������
� 
��	����
���
� ����� ����� �
 ��� �
	����������
������	�� �
��*
������	���	��

A(ω, T ) = −1

π
Im GR(ω, T ) =

1

π

ΣI(ω)

(ω − (εd + ΣR(ω)))2 + ΣI(ω)2
,

ΣR(ω, T ) ∼ −εd,

ΣI(ω, T ) ∼ Γ + γ(ω, T ),

γ(ω, T ) = cΓ

[(
ω

kBTK

)2

+ π2

(
T

TK

)2
]

,

I/4�,J

���	� A(ω, T ) �� ��� ����	��� �����	
� ��
����
 
� �����	
��	� T � Σ �� ��� ������
�	��� 

�
��� ���P���
� c �� π2/32 ≈ 0.3� $ ������ 
��	����
���
 ��	 ��� 	���


�� ��
������� ��
���
	��

%�2> = 2
√

(πkBT )2 + 1/c(kBTK)2. I/4�DJ

%�	�� ������ ����	� �� 
���
��� !
��� �
�� ��	 ω, T 
 TK � %�	 ω, T ∼ TK � ���
	������
��		�����
� ������ �� �
3�
 �
�� 
����
�� %�	���	��	�� ��� !
��� �� c �� 
�� 
 ��
��

�


� �� �� ����	�
� �	�� c = π2/32 �� ���	� �� 
� �
	���������� ������	�� ��
�� �
 ��
�	
� ���
������ �� �
���� 
������	�� T��	 ��
���� εd = −0.84 eV 

� U = 2.84 eV� ���� δ/U = 0.2
��	 (�N$�I///J	��U� �
	�� ������
��� �		�	� 
	� �
�	������ �
 ��� ����	��
�� !
��� �� TK

�� 

 
	���	
	� !
��� ��	 c �� ���� Tc = 1/2 �� ����
 ���� ��	 �����	��
� 	�
��
�	��U�

��!�!� *�
� ����� �� �
�������

 �������� �
� ��
��
		� ���

���

%

� �	���

��� ������� ��� �
��	��	�
�� ������
 
 ����	��� 

� 
 ��
��
��� ��


�� �
 ���
��
���� �� 
����� ������� ��	 ����	��� 
������
���� ��
������� 2� �
� ����
 ��
� ���� �
��	�
��	�
�� �	������ 
 ��
	
���	�����
��� 
������	�� ��
� ��
�� �
 �����	
� "� ������ �� 
����
��
� ��� %

� ����� �� 
��� ��	 ��� 
 ��

��� ����

��
� ������ �� �� 
 �
!� �
��	��	�
��
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����� ��
� 
��� 
	���� �
 ��	��� ��
����
� �������� %

� 	���


�� �

 
���
	 ���
�!�	
���	� �� 

 �
��	��	�
�� ������
 
 

		�� 

� 
 ���� �����	
� ��
��	� I	���


��J� ���� ��	
��
����� )��� +�,�. ���	� 
 %

� 	���


�� 
���
	� �
 ��� ��
���� �� ������������ ������
��

��� ��� ������� ��� ����	!
���
 �� 
 %

����3� 	���


�� 
�
	 ��� %�	�� ��!�� �
 

��

���
� �����	�� �� �� ������ 
�� 
 �	��� �� #�
�� ������ "� ���� �� ����
 ��
� ���


		�� �����	
� ��
��	� 	����
����� ��	 ��� %

� 	���


�� �� ��� #�
�� 	���


��� ���� ��
�� �

���
	����� �	���
� $ �������� ���� �� 
 ��
��	���
� �� ��� �����	
��	� ����
��
��
�� ��� �����	
� ��
��	�� ����� ������ ������ ��� �
�!�	�
� #�
�� �����	
��	� ����
��
��


�� �
 �
	�����
	� ��� 	���


�� ������ �	
��
��� ���
���
	 
��!� TK �	�� ��� 	������ ��
���� �����	
��	������
��
� ��
��	���
�� 
	� �
��	��

���� ��
���
��� �� ��� �
�� ��
�
��� �����	
� 	��������
 �� ��� ��

���
� �����	������ ������ �� �� ��� �	��	 �� kBT � ���	���	�
��� ���
	������ ���	�
�� �� ��� 
�������� �� ��� #�
�� 	���


�� �


�� �� 
���	
����
�������� ��	 T > TK � $ �����	 ���� �� ���� ��� �������
� �� ��� #�
�� 	���


�� �
 ��	�
�
�
�
���� &������


��� ����	���
�
� �����	
 �

 �� &���� ���� 
 %

� ��
�

(q + ε)2

1 + ε2
= 1 +

q2 − 1 + 2qε

1 + ε2
I/4�0J

���	� ε = (E − E0)/(Γ/2) �� 
 	���
��� �
�	��� E0 �� ��� 	���


�� �������
� Γ ��� ������
���� �
	
����	 q ��
� �� �����
��� ������
 0 

� ∼ 1�	�� ��� %

� ��
����
��� 
	� �������
�
 %��� /4�. ��	 
 	

�� �� �
	
����	 q� %��� �� %

� ��
� ��
�� 	��	����� ��� ��� ��	����	��
��� 
������	� 

� ��� ����� �
 ��� ��
���� �	�� EF ���� )�
�� q 
 1 ��		����
�� �� ��
��
������
� �� ��� ����	��� ��
�� �� ��� ��

�����		�
� �
		��
� ��
��
��� ��
���� ����� �
	��
q � 1 ����� ����� ��	�
� ��������	��� ������
�� �����	 ��	����� I��

���
� �� �����	�
�
�
�� ��� ���
����� d��	���
�J �	 �
��	����� I��

���
� �� �����	�
� �� ��� d��	���
� !�
 ���
��
������
 �

�J���� ��� �
��	����
�� !
��� q ∼ 1 ��

� ��
� ���� ������
� �� ��
��� ���
���
�&�

�� $� �� ��!� 
�
� �	�� ��� ����	���� q ���	�
����� 

� ��� ��
� ��
�� �������
��	� ������	�� I��	 q = 0� ��� ��
� ��
�� �� 
 ������	�� ���J� '	���
��� ���� ������ �
!�
��P������� �
 	��	�����
� ���� ��
��	��	���	���	�	

��!�!" 4���������� ������

)������ ����	���� �� ��� ��

��� ����	��� ������ ������� �
�!�	�
����* ����	 ��� �����	�

��	� �	���	���� 
	� ����	���� �� 
 ��
�� 
����	 �� �
	
����	�� ����
 �
�� ��� O ��� #�
��
�����	
��	� 

� ��� ��
���
	����� ��
���	�
� ��
�� ������ "
 ��
�	
��� ��� ��
� ��
��� ���
�
�
 ��� ��

���
� �����	
 ��
��	�� �!�	 �
�
���� 
�
���� �
 ��	�
��� 
	� �
	3���� ����
�����
	� "� ��	
� ��� ��
� ���� ����
� �
 ��� ���
��� �� ��� �����	
��������	�
�����	����	�
�
����� ��

��� �
��	��	�
�� ���
���

�

'��
���
������
� ����	��� ������ ��������� �
 ��� �	�!���� ������
 
����
� ���� ��	 ���
����	!�� ��
��	��� �� �
�
 ��	� �
������ ����	����
� �	�������
� �� ��� ������!� �
	
����	�
��
	��
� �	�� ���	������� ����	��� ��	� ��	��	����	���	���	���	�� "
 �
	�����
	� ���������
���
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�3 �2 �1 0 1 2 3
Ε

0.1

0.2

0.3

0.4

f�q,Ε�

q�0

q�8

q�1

%���	� /4�.* %

� 	���


�� ��
�� ��	 
 	

�� �� �
	
����	 q� " ���� ��
����
 f(q, ε) =

c (q+ε)2

1+ε2
� ���	� c �� ���� q�����
��
� 
�	�
���
���
 ��
��

�� E��� ��
� f(−q,−ε) = f(q, ε)�

���	���	� ��� %

� ��
�� ��	 
��
��!� q 
	� ��		�	 	�L�����
� �� ����� ��	 ������!� q�

������� �� �
����
�� ��� ���	����
���
 �
�	�� �����
�� Vd,k ��	� ������ ��	�	���	�	 �� �
�
���
� �
	�� ��
� ����� �
	
����	� 
	� !�	� ��
����!� �� ��� ���
��� �� ��� �

� ��	����	��	��

����� �
��	��

���� 	������ ��� �	������!� ����	 �� ������ ����	���� "
 
������
� ��� d�
��!�� �� ������� �
 �
�	�� �� ��� ��	�
�� ����
��
�� ��� �� ����
�
��
� ����
��
�� �� TK

�
 εd� 
 ������ 
����� ��!�� ����� �

 ��
� �� 
 ��� ��

�� �
 ��� #�
�� �����	
��	�� ��
�������
�� �
���	� ��	���	� �
 
������
 �� ��� #�
�� ������ ��� F 9) 
	��
� ��� ����	���
�� 
������ �� ��� %	����� ������
���
� �
����� �� ��� 
�
����	��

���
 
 ���
�� 
��� �� 
���	��� �
 
 ���
� ��	�
��� ��� ������� s��
!� �����	�
� �����	
���� �	

���		�� �� ��� ���
� ��
������
 �

� �	 �� ��� ��
 d �	���
�� ���	���	� (� ��
��
�� ��	� T$	U3d9 �����	�
�� ��
&��	
���
 �
 
 (� ��	�
��� ���� �� �
� 
 ��
��� d��	���
� ����


� S = 1/2�	���	�� "
 
������
� ���	� 
	� ���� 	�
��
� �� �����!� ��
� ��� 	���!

� d�
�	���
� �� d3z2−r2 

� ��
� ��� �	���
� �����
 �� ���
���� �� ��� �	�3�
 ������	� 
� ���
��	�
�� I�
����
�
���� ���� ������� ��
� ��� ��	��
�
���� 	
��� �� g ≈ 2J� %	�� ���� �������
��
� ��� (� 
�
��� �

 �
���� �� 	������ ������� ���
� ��� ��
��� ����	��� $
��	��

������ H6�
��� �� 
�� �
!� ������� ��� �
	
����	� ��
� �
��	 ��� ������!� ����� ��	
���
�� �
 $�I///J�	�� ����� �

 �� ���� 
� ������ ������
� �
	
����	� 

� 
	� ��!�
 ��	
	���	�
�� ��	����� �
 �
��� /4�.� 9
����� (������ 	�������
 �
� �
3�
 �� �� �	���	���

�
�� ��� F) $ )��
�	 �������
�� %�	 ��� �

� ����� I���3 

� I///J ��	�
�� �

�� �� $�J


 
������ !
��� �� D = 5.5 eV �

 �� ���� I��� ������!� �

������ �� ��
�	����� �� U


� εd 

����J� ���� ����� �
	
����	�� �� ��� TK ����� �� �� ��� �������� �	��	 �� ���
�
�
������
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'
	
����	 :
���

=	�
��
�
� ∆ = π|V |2ρ 4�. �:
9
����� (������ 	�������
 U .�5D �:

9	���
� �
�	�� εd �4�5D �:
=

� ����� D 0�0 �:

�
��� /4�.* ������!� �
	
����	� ��	 ��� $
��	��
 ����� �� (�N$�I///J�	��

��!�!� �	�����%����� �������
� �� �	�' ��
�	����
 ��
� �������
�

9
� �� ��� �
�
 ��P������� �
 ���	������� �������
� �� ��� ��	�
�� #�
�� ����� �� ���
��	��
�
� ��� ���	����
���
 ��
��

�� ��
� �
��	 ��� ���	�����
 ��	 ��� #�
�� ����

��
�
��	
����
� =��� ���3 =���� �
!�� 

� ��	�
�����
�� �����	�
� �

 ��
� 
 	��� 

�� ��
�	�

���� ���� ��� >��� ����	���
�� 
	� ��	��	��� �
 ��� I///J �
���� �� 
���� ���
�� ���	�
���3 �����	�
� ������� ���� )���3��� ��	�
�����
�� �����	�
��	�� "
 	���
� ��
	�� ��� �����
���
 
���� ����� 
	� �	�����


� �
� ������ ���
���� (��
	��� ��� �	���
�� �� ��� 
�
���
�
����� ����
� ������
 ��� ���3 

� ��	�
�� ��
���	�	�	�	 

� ��� d���!�� ������� �� ��� ���
�	������ �����	� �� ���3 

� ��	�
�� ��
���� �� �
� ����� �� �
��	����� �
 ��� �	�����


�
��
	
���	 I���3 !�� ��	�
��J �� ����� ���	������ ��
���� ��� 
!
��
��� ����	���
�
� 	������
�������� 
 ��	� ����	�

� 	��� �� ���3 ��
��� �!�
 �
 I///J ��	�
����	���	�	�	���	�� @���
�
������� �
��� �
  %� �
����
���
� 
��� �
���
�� ���� �
	��	 ��
�	������
 �	�� ���3 ��
���
�
 (�N(�I///J �������	�	

��� �	����� �� 
 �
�
���� ����	��� �
 
 ��	�
�� �� 
 �����

�� ��� ��
��� ��


�� �	������
��
�� �
�� �
� ������!� ��


�� ������� �� ��� ����	���� "
 ���� 	������ �� �� �����
	 ��
��� ��

��� ��� ������� �� ��� �����
�� ��
��� ��� �� 
 ��
��� ��


�� �� ������	��
�����

���
 �� �
!����
����
�� "� ���	� 
	� ��� �

�� ������� �� 
 ��
��� S = 1/2 ����	���
�	���
�� 
 ����
��� ������!� ����� ����� ��

H =
∑
kµ

εb
kc

†
b,kµcb,kµ +

∑
kµ

εs
kc

†
s,kµcs,kµ + Himpurity

+
∑
kµ

V b
k

(
d†

µcb,kµ + 2���
)

+
∑
kµ

V s
k

(
d†

µcs,kµ + 2���
)
.

I/4�-J

����� ��	 ��
����� Himpurity =
∑

µ εdd
†
µdµ + Un↑n↓� %�	 ��&
���
��� �� �
!� 
������ ��
�

��� &	�� �

� b ��		����
�� �� ��� �����	
�� ���3 �

� I, J� ����� ��� ����
� �

� s
��		����
�� �� ��� ��	�
�����
�� �

� I. J� �� 
����� ��
� ���� �

�� 
	� ����	����� ���
&	�� �
 ��	�������
���
� 

� ��� ����
� �
 ��������
���
�� ���� εn

k ����
�� �
�� �
 k = |k|�
"� ������ �� 
���� ��
� k �
 , 

� k �
 . 
	� 
�� ����
	
���� "
 �
	�����
	� ��� %�	��
����
�� 
	� ����	�
�� kb

F �= ks
F �

�� �

 ��	���	��	� �
���� 
����� ��
� V s
k ����
�� ������ �
 ��� �
�
����� �� k� ���


�� �
 ��� ��	�����
� ���� �
�� ��� s��
!� ������	�� �����

���
 �� ��	�
�����
�� �����	�
�
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k ���� 

 
��	����
���
 �


�� �� �
�� ��
�� ��� ���	����
���


���
	�� ��	�
��� ����
�� �
 ��� ��	�����
 �� k� E�!�	�������� �� �

 ������� ��� ����
���


���
	 
!�	
��� �� V b

k 

� �
��� ���� �� V b
k � ��� ����	��� �
�� ������� �� ��� �
��

����
���

� �

����� �� ��	�����
�
!�	
��� �����

���
� �� ��
���� �� ���
 �	

���	�
�	�� ����
������
�� �� �
�	�����
�� �� ��&
�
� aε = (dεk/dk)−1/2ak ���
 ε = εk� ��
���
�
 I���� �!�	 	���
��� ���
 �
����� 
	� �������J

H =

∫ Db

−Db

εa†
b,εµab,εµdε +

∫ Ds

−Ds

εa†
s,εµas,εµdε + Himpurity

+

∫ Db

−Db

[ρb(ε)]
1/2Vb(ε)

(
d†

µab,εµ + 2���
)
dε +

∫ Ds

−Ds

[ρs(ε)]
1/2Vs(ε)

(
d†

µas,εµ + 2���
)
dε.

I/4�+J

E�� ����� ��� �	���
� ����* 
� �
�� �
�	�� ε� ��� ����	��� ������� �
�� �� ��� Q������	��R
�����

���


fεµ =
ρ

1/2
b Vbab,εµ + ρ

1/2
s Vsas,εµ√

ρbV
2
b + ρsV 2

s

, I/4�5J

����� �� �� ��������� �	�� ��� Q

��������	��R �����

���
*

gεµ =
ρ

1/2
b Vbab,εµ − ρ

1/2
s Vsas,εµ√

ρbV 2
b + ρsV 2

s

. I/4�CJ

�� ������ 
 
�� ������ D = max(Db, Ds)� ��&
� ρV 2 ≡ ρsV
2
s + ρbV

2
b � 

� �	��� ���

������!� ��
������


�� $
��	��
 �����*

H =

∫ D

−D

εf †
εµfεµdε + Himpurity +

∫ D

−D

√
ρV 2
(
d†

µfεµ + 2���
)
dε. I/4�/4J

���� ρ|V |2 

� ��
�����
��� ρJ 
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�����!� ��
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�;�� *'- 
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��������
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���J �
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���
	����� ������ 
	� ����	�
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 �
�� 
����
�� "� �
� �� 
������ �
 ��� &��� �� ��

���
� �����	������
���
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 �� 	������ �� 
 ��

��� ����	��� �	����� ���� 
 ��
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������
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��� ���	� ��� 	���!

�
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�
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� �� �����
��� 
 ��
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�
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� ���� ���	������� ����	��� ��
� �
� ���
 
������ �� ��� ��	�
�� #�
�� �	������
�!�
 ������ ����� �	���
�� �
� �����
�� ��� ��
���� �� ��
��� ��
� ��� d���!�� ������� ���
%�	���	��	�� ����� �	���
�� �

 �
		� 
 ��	���
 �� ��� ��

���
� ��		�
� ���
 ��� )�>
��� �� ���
��� ��	����� 
��!� ��� ����	��� 
����� ��� �����	 ��� �
�	�� �� ����� �	���
�� ��
�� ��� %�	�� ��!��� ��� ��	� ����	�

� 	��� ���� ��
��

"
 ���� ������
 " ���� �� E@G �
����
���
� ��
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�
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 ��	��� ��
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�� �� ��� 	���


�� �
 ��� d���!��� �J ��� 
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������ �
�
���� &���� �J ��� ��	� �� ��� 
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��
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 ����
��
� �
� �
 ��� �	���	���
� �� ��� ��

���
� ��		�
� ��
� L��� �
 ��� 
���	�
��
s���!�� 

� �
 ��� �����	
�� �

�� �J ��� s���!�� �����
��� ��� ��
���� �� ��
��� �� �����
��� ����	��� �������� ���	���	� ��� ��

��� �
 ��� s���!�� �
�	�� �

 �	�!� ��� #�
��
�����	
��	� �� ���	����� ��
�� !
�����

��� ��

���
� ��		�
� �� ��!�
 �� I��� )��� 0�,�.J

I =
e

h

∑
µ

∫
dε (fsubstrate(ε) − ftip(ε)) Tr[Γtip,µ(ε)ImGrµ(ε)]. I/4�//J

2�	� Γtip �� ��� ���	����
���
 �
�	�� ������
 ��� )�> ��� ��
��� 

� ��� 
���	�
�� ��!����
�����Gr �� ��� 	��
	��� G	��
�� ��
����
 �
�	�� �� ��� 
���	�
��� $� ��	� �����	
��	�� ���
%�	��� �	
� ����	������
 ��
����
� ������ fsubstrate(ε) = θ(εF −ε)� ftip(ε) = θ(εF +eV −ε)�
���	� εF �� ��� %�	�� ��!�� 

� V ��� !���
�� �	�� �
 ��� �
� ������
 ��� )�> ��� 

�
��� 
���	�
��� ��	 V > 0 �����	�
� L�� �	�� ��� ��� �� ��� �
����� �� ���
 ���
�


dI/dV = −G0/2
∑

µ

Tr[Γtip,µ(ε)Im Grµ(ε)]ε=εF +eV . I/4�/.J

��� ��
��

	� �
	� �� ��� G	��
�� ��
����
Gr �� ����
��
��� �	���
����	����!�� ���
� ��
����
�� ��
��� �� ��� ����	���� ����� ��� ���	����
���
 �
�	�� Γtip �
����� ���� ��� ��
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��� ��� ��
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� �	��
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� ��
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� ���	���	� 
�����	 �
 ���� I/4�//J 

� I/4�/.J�
"
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� �� �	���	���
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 ���
	� �� ��� ��	�
��
�
���	
� �!�	 
 ���
	
���
 ��	�
�� ������
 ��� ��� 

� ��� �
�����	�

M = − �
2

2m

∫
Σ

(χ∗∇ψ − ψ∇χ∗) · dS, I/4�/,J
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� �
!����
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��	 �	���
� f0

�� ��� �����
 ��
�
	�
 � ��� ���
 ��	� �� �� ��
����	 f0 
� �
	� �� ��� ����	��� �������
��� I/4�/.J ���
 ����� 
������� ��� ��� �	
�� �!�	 ����	��� �	���
�� �� ����
��� �� �
�����
��� f0 �	���
�� ��� ��

���
� ��		�
� ���
 L��� �� ���� ��
�
	 �����

���
 �� �	���
���
����	���� �� 

 ���	
��	 ���� 
� h†

µ ∝ tsd
†
sµ + tf0f

†
0µ� ���	� ts 

� tf0 
	� ��� ��

���
�


��������� ��	 ��

���
� �
 �����	 ��� s���!�� �	 �
 ��� �����	
�� �����	�
 �

��	�
�	��

���
���
 I/4�/.J ������&�� ��

dI/dV = G0/2
∑

µ

π[Γtip(ε)Ah,µ]ε=εF +eV , I/4�/DJ

���	� Γtip(ε) = πρtip(ε)(t
2
s + t2f0

)� �� �
3� ts 

� tf0 �� �� �
�	����
����
��
� �
 ���
	���!

� �
�	�� 	

�� 
	��
� ��� %�	�� ��!��� ��� ���� 
��������
 �
� �� 	��
���� "�
������ �� ����
����� ��
� �
 ���� ��	�
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���
� �
��� ��
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� ��
� 
�� ��

��� �
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�� ������ 
	� �
3�
 �
�� 
����
��
��� ��

���� �� ��
�	
� �
��	��� �� ���� ��� �����	
� ��
����
 �� ��� ������!� Q�	���
� �R�
Ah,µ�

=���	� ������
� �
 ��� ������!�� ����	��� ������ �� &	�� ����� ��� ��
!�
���

� ����	�����

�� ��� ��	�
�� #�
�� ����� ���
� 
 ��
��� d���!�� $
��	��
 �����*��

Himp = δ(nd − 1) +
U

2
(nd − 1)2,

Hc =

(
2ΓD

π

)1/2∑
µ

(
d†

µf0µ + 2���
)
.

I/4�/0J

=� �	���
� ��� ������
� 2
�����
�

Hc �
 ���� ��	�� �� 
������ ��
� ��� d���!�� ���	������
���� ��� ��
������
 �

� �	���
� ��
��	�� 
� ��� ����	��� ����� f0� %�	���	��	�� �� 
�����
��
� ���
 ��� )�> ��� �� ��	����� 
��!� ��� 
���	�
�� ��� ��

���
� ��		�
� L��� �
�� ��
f0� ���� h†

µ = f †
0µ� ��� ����	��� d���!�� �����	
� ��
����
� 

� ��� ��
������
 �

� F 9)

I�	� ����!
��
���� ��� �����	
� ��
����
 �� ��� f0 �	���
�J 
	� ����
 �
 %��� /4�,�

"
 ��� 
���
�� �� ��� ����	���� ��� ��
������
 �

� F 9) �� L
� 
�
	 ��� %�	�� ��!���
Af0(ω) = 1/(2D)� ���
 ��� ����	��� �� �
�	������� ��� ����	��� �����	
� ��
����
 ��
��		�	�� �
 ��� ��
������
 �

� F 9)� ��� �������
� 	��
���
 ����� ��	 
 L
� �

� 
�
T = 0*	��

Af0(ω) = A0 (1 − πΓAd(ω)) . I/4�/-J
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Himp = εs

∑
µ

d†
sµdsµ + JSd · Ss

HC =

(
2ΓD

π

)1/2∑
µ

(
d†

sµf0µ + 2���
)
.

I/4�/+J
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��	 Ô �� 	

3 M ���� 2M +1 �����
�
�� �
����� ��
µ = −M, . . . , +M � =� ��&
����
� �� �
���&�� ��� �������
� 	��
���
�[

Jz, O
M
µ

]
= µOM

µ[
J+, OM

µ

]
= A(M, µ)OM

µ+1[
J−, OM

µ

]
= A(M,−µ)OM

µ−1

I$�/J

���	� J 
	� ��� ��
�	
��	� �� 

 )HI.J ������	� �	��� 

� A(M, µ) =
√

(M − µ)(M + µ + 1)�
��� ����
��
��� �� 
 ������ ���� )HI.J ������	� ���
 �
����� ��� ���
�	���3
	� ����	��*

〈α, j, jz|OM
µ |α′, j′, j′z〉 =

〈〈〈
j′j′z;;;Mµ|||jjz

〉〉〉〈α, j‖OM‖α′, j′〉, I$�.J

���	� j, j′ 
	� ���
 ��

��� 
����	�� jz, j
′
z 
	� �	�6�����
 I�
�
����J ��

��� 
���

��	� 

� α, α′ 
	� 
������

� 
�
�

���
	 ��

��� 
����	��
〈〈〈
j1jz1;;;j2jz2|||JJz

〉〉〉

	� )HI.J

(�������G�	�

 ���P���
��� ��� ����	�� �� �	�!�� �� �
��	��
� ��� ��&
�
� ������
��	�
I$�/J ������
 �	
� 

� 3��� 

� ���	
��
� ���� ��� ��
�	
��	� J �� ��� ���� �
 �	
� 

�
�� ��� 	���� �
 3���� ��� ������ �� ���
���
� ���� ���
�
�� �� ���
���
� �� ��� ��
�	
��
�
���
���
� ��	 ��� (�������G�	�

 ���P���
���
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���
	����� ������� 

� ���� 
��
���

��	 ��� �
�
 �����

$
 ���	
��	 �
 ��� 2����
��	� 	��	���
�
���
 �� ��&
�� ��

O(t) = eiHtO(0)e−iHt I=�/J

�	 �� ��� ���
���
 �� �����


i
∂

∂t
O(t) = [O(t), H ]. I=�.J

"
 ��
�	
� I

� �
 �
	�����
	 ��	 
�
��������	��� �	������J �� 
��� �� ��&
� ��!�	
�
G	��
�� ��
����
�*����		�

G>(x1, x2) = −i〈ψ(x1)ψ
†(x2)〉

G<(x1, x2) = i〈ψ†(x2)ψ(x1)〉
Gt(x1, x2) = θ(t1 − t2)G

>(x1, x2) + θ(t2 − t1)G
<(x1, x2)

Gt̄(x1, x2) = θ(t2 − t1)G
>(x1, x2) + θ(t1 − t2)G

<(x1, x2)

Gr(x1, x2) = Gt − G< = G> − Gt̄

= θ(t1 − t2) (G>(x1, x2) − G<(x1, x2))

= −iθ(t1 − t2)〈ψ(x1)ψ
†(x2) + ψ†(x2)ψ(x1)〉

Ga(x1, x2) = Gt − G> = G< − Gt̄.

I=�,J

G> �� �	�
��	 G	��
�� ��
����
 IG%J� G< �� �����	 G%� Gt �� ������	��	�� G%� Gt̄ �� 

���
������	��	�� G%� Gr �� 	��
	��� G% 

� Ga �� 
�!

��� G%� 2�	� x1 ��

�� ��	 ���� t1�
�������
 r1 

� 

� ����	 ��

��� 
����	� ���� 
� ���
� E��� ��
� ��� G	��
�� ��
����
�

	� ��&
�� �
 ��� 2����
��	� 	��	���
�
���
�

$� 
�
��	� �����	
��	��� ��� 	��
	��� G	��
�� ��
����
 ��	 ������� �
 ���
�� ��
�� �

 ��
���	����� 
�*

Gr
i,j(t − t′) = −iθ(t − t′)Tr

(
e−β(K−Ω)[ci(t)c

†
j(t

′) + c†j(t
′)ci(t)]

)
I=�DJ
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2�	� 

� �
 ��� �������
� i, j ��

� ��	 

� ��

��� 
����	�� �
 �
	�����
	 ��	 ��� ����

����	 

� ��� ���
 �� �����	�
� K = H − µN � ci(t) = eiKtci(0)e−iKt 

� Ω �� ��� �	

��
�

�
��
� �
	�����
 ��
����
� �� ��� t′ = 0� �� ��
� Gr ����
�� �
�� �
 t 

� �� ��	��	�

 %��	��	 �	

���	� �� ��� �
�	�� I�	����
��J ��
��*

Gr
i,j(ω) =

∫ ∞

−∞
dteiωtGr

i,j(t). I=�0J

��� �����	
� 	��	���
�
���
 �
 ��	�� �� ��� ����
��
��� ��&
�� �� K|m〉 = Em|m〉 �

 ��
��	�!�� 
� �������*

Gr
i,j(t) = −iθ(t)eβΩ

∑
n,m

〈n|e−βKci(t)|m〉〈m|c†j(0)|n〉 + 〈n|e−βKc†j(0)|m〉〈m|ci(t)|n〉

= −iθ(t)eβΩ
∑
n,m

e−βEn

(
eit(En−Em)〈n|ci|m〉〈m|c†j|n〉 + eit(Em−En)〈n|c†j|m〉〈m|ci|n〉

)

= −iθ(t)eβΩ
∑
n,m

eit(En−Em)〈n|ci|m〉〈m|c†j|n〉
(
e−βEn + e−βEm

)
I=�-J
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�


Gr
i,j(ω) = eβΩ

∑
n,m

(
〈m|c†i |n〉

)∗
〈m|c†j|n〉

e−βEn + e−βEm

ω + En − Em + iδ
. I=�+J

%�	 i = j� �� �
!�
(
〈m|c†i |n〉

)∗
〈m|c†j|n〉 = |〈m|c†i |n〉|2� '�����6 ��	���
 1

x+iδ
= P 1

x
−iπδ(x)

�

 ���
 �� ���� �� ���
�
 ��� ��
��

	� �
	�*

Im Gr
i,j(ω) = −πeβΩ

∑
n,m

|〈m|c†i |n〉|2
(
e−βEn + e−βEm

)
δ (ω + En − Em) . I=�5J

�� ��&
� ��� �����	
� ��
����
 
�

Ai(ω) = −1

π
Im Gr

i,i. I=�CJ

"� ������ �� 
���� ��
� ���� ������ ��&
� ��� �����	
� ��
����
 ������� ��� π �
���	Y 9�	
��&
����
 �� ���� ��
�

∫
Aidω = 1� ����� ����	� �	���	

∫
Ai

dω
2π

= 1� E��� 
��� ��
� �
 ���
�
�� �� S = 1

2
��	���
�� ��	 �����	
� ��
����
 Ai 	���	� �� 
 �
	�����
	 ���
 �	��
�
���
�

��
�� �
��� i �
������ σ� ���� Ai(ω) = An,σ(ω)�

"
 ��� ��	�������	
��	� �
�� �� ���
�
*

Ai(ω > 0) =
1

Z

∑
m,n0

|〈m|c†i |n0〉|2δ (ω − Em)

Ai(ω < 0) =
1

Z

∑
m0,n

|〈m0|c†i |n〉|2δ (ω + En)

Z =
∑
n0

1

I=�/4J
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���	� �
����� m0, n0 �
���
�� ����
���
 �!�	 ��� �!�
��
��� ����
�	
�� �	��
� ��
����
����� �
����� m 

� n ��		����
� �� ���� �!�	 
�� ��
���� Z �� ��� �
	�����
 ��
����
�

%�	 i �= j� �� ��
����	 ��� ������	���� ��
����
 Gr
i,j + Gr

j,i�  �
���
� ��� �	
3�� �	�����(
〈m|c†i |n〉

)∗
〈m|c†j|n〉 �� a� �� ��� ��
� ��� 	���
����
� i ↔ j ������ a∗� ��� ������	��

��� �� G	��
�� ��
����
� ���
 ��
��	�� 
 	�
� �
���	 a + a∗ = 2Re a 

� �� �

 
�
�
 ���
��� '�����6 ��	���
 �� ���
�


Im
(
Gr

i,j(ω) + Gr
j,i(ω)

)
=

eβΩ
∑
n,m

2Re
[(

〈m|c†i |n〉
)∗

〈m|c†j|n〉
] (

e−βEn + e−βEm
)
δ (ω + En − Em) . I=�//J

�� ��&
� ����� �����	
� ��
����


Ai,j(ω) = − 1

2π
Im
(
Gr

i,j + Gr
j,i

)
. I=�/.J

)����
����
� �� T = 0 �� ���
�
*

Ai,j(ω > 0) =
1

Z

∑
m,n0

Re
[(

〈m|c†i |n0〉
)∗

〈m|c†j|n0〉
]
δ (ω − Em)

Ai,j(ω < 0) =
1

Z

∑
m0,n

Re
[(

〈m0|c†i |n〉
)∗

〈m0|c†j|n〉
]
δ (ω + En)

I=�/,J

E��� ��
� ���	� �� 
 ��� 	��� ∫
dωAi,j(ω) = δi,j, I=�/DJ

����� �� 
 ��
�����
�� �� ��� 

��������
���
 	��
���
 ��	 ��	���
�� ���	
��	� cic
†
j +c†jci =

δi,j�



/������0 �

4���	������  ��	��*�	$1��*

�	�����	������

"
 ���� ������
 " ��	�!� ��� )��	����	����� �	
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���
 �� ��� #�
�� ����� 
�����
���
�� ��� ������� �� �������� ����	������ ��� ��	�!
���
 �� �
��� �
 ��� 
��	�
�� �� @��� 00/�
�� ���
	
�� ��� 2
�����
�

 �
�� 
 2
�����
�

 �� ��� ����
��� ���� 

� ��
������
 �

�
H0 

� 
 ������
� 2
�����
�

 H1*

H0 =
∑
k,σ

εkc
†
k,σck,σ +

∑
α

Eα|α〉〈α| I(�/J

H1 =
∑

k,σ,α,β

tkσ|β→α |α〉〈β| ck,σ + t∗kσ|β→αc†kσ |β〉〈α|. I(�.J

���	� �������
����� α 

� β ��

� ��	 ��� ��

��� 
����	�� ��	 ��
���� ��� ��� (Q, S, Sz, ω)�
(��P���
� tkσ|β→α ��		����
� �� �����	�
 �����
���
� �
 ��� ����� ����� t∗kσ|β→α ��		����
�
�� ���� �����
���
� �
 ��� �����

�� ��	��	� 
 �
��
	� �	

���	�
���
 �� ��
� ��� �	

���	��� 2
�����
�

 ���� ��
�
�
 
�
���	
��	� ��
�
	 �
 ������
� ���P���
�� t�

H̃ = eP He−P = H + [P, H ] +
1

2!
[P, [P, H ]] + · · · I(�,J

H̃ = H0 + H1 + [P, H0] + [P, H1] + O(V 3). I(�DJ

�� 	����	� [P, H0] = −H1� �� ��
� �� ���� ���
�


H̃ = H0 + [P, H1] . I(�0J

F�� |a〉 

� |b〉 �� ��� ����
��
��� �� H0� �� ���

〈a|H0P − PH0|b〉 = 〈a|H1|b〉, I(�-J

.D-
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��
��

〈a|P |b〉 =
(H1)ab

Ea − Eb
, I(�+J

���	� Ea 

� Eb 
	� ����
�
�	����� =� �	����������
� �� |a〉 

� �������������
� �� 〈b|


� �����
�� �� ���
�


P =
∑
a,b

(H1)ab

Ea − Eb
|a〉〈b|. I(�5J

2
�����
�

 H1 ��

���� ��
��� ��
� ����	 �� �
� �����	�
 �
 ��� ��� 	����
� ∆Q = ±1


� ∆S = ±1

2
� %�	 �	

�����
� ���	� 

 �����	�
 �� 
���� �� ��� ����� �� �	��� a = (α, 0)



� b = (β, kσ)� ���	� �������
����� β = (Q, S, Sz, ω) 

� α = (Q + 1, S + τ, Sz + σ, ω′)
��		����
� �� ����
��
��� �� ����
��� ����� τ = ±1/2� 

� ��� �
�	�� ����	�
�� �� Eα −
Eβ − εk� %�	 �	

�����
� ���	� 

 �����	�
 �� 	���!�� �	�� ��� ����� �� �	��� a = (α, kσ)


� b = (β, 0) ���� α = (Q−1, S − τ, Sz −σ, ω′) 

� ��� �
�	�� ����	�
�� �� Eα + εk −Eβ �
�
3�
� �
�� 
����
� ��� ��&
����
 �� H1� �� ���
 ���
�


P =
∑

α,β,kσ

tkσ|β→α
|α〉〈β|

Eα − Eβ − εk
ck,σ + t∗kσ|α→β

|α〉〈β|
Eα − Eβ + εk

c†k,σ. I(�CJ

E��� ��
� ���� |α〉〈β| �	�6����	� ��
�
�
 
����
�
�� 

 ��� 
����	 �� ��	���
�� ���	
��	��
���
��� ��� �����	�
 
����	 ��

��� �� ±1� ���
 ckσ|α〉〈β| = −|α〉〈β|ckσ�

E�� �� 
��� �� ������� ��� ������
��	 [P, H1]� 9������ ��
	�� L����
���
 	����
�� ��
�
� ���	��
	� ���������	�
 �����
� ��	�� ���� 
�

tkσ|β→αtk′σ′|α→α′
|α′〉〈β|

Eα − Eβ − εk
ck′σ′ckσ, I(�/4J

���
��� ���� �
�� ��
�	����� 
� ������	��	 ��		�����
�� ��� �
�� 	���!

� ��	�� 
	� �����
��
� ��		����
� �� �����	�
N���� �����
� �
 

� �� ��� ���� ����� 
	� �
���
��� �
 ���
�	��
� ��
��� ����� ��	�� 
	�

∑
α,α′,β,kσ,k′σ′

tkσ|α→βt∗k′σ′|α′→β|α′〉〈α|
(

1

Eβ − Eα − εk
+

1

Eβ − Eα − εk′

)
c†k′σ′ckσ

−tkσ|β→αt∗k′σ′|β→α′|α〉〈α′|
(

1

Eβ − Eα + εk
+

1

Eβ − Eα + ε′k

)
ck′σ′c†kσ

I(�//J

��� ��
��� |α〉 

� |α′〉 ��		����
� �� ����
�	
�� �	��
� ��
���� ����� �
� �
 ���� �
���
��		����
� �� ����	�
� (Q, S, ω) ����������� ����� ���
	�� �


�� �� �
���� �� 
 ������
#�
�����3� �	������ �� �	�� ��	� �
 �� 
����� ��
� ���	� �� 
 ��
��� �	��
� ����������

���	� ������
��� �
��	����� �
 ��	�� ���� σ = −σ′� ���
 Sz(α
′) = Sz(α) + 2σ 

� |α′〉〈α|

	
���� �	 ����	� ���
 �� 1� ���� ��		����
�� �� S+σ− + S−σ+ ��	� �
 ��� #�
�� 2
����
��
�

�  �� �� ���
 ����	���� ���	� ���� 
��� ����� ��		����
��
� Szσz ��	�� ��	 σ = σ′

����� ��
� �� S · σ ���	�����
�
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 ���	�����	� ���� �	�����	������

���	� 
	� 
��� ��	�� ���� σ = σ′� ����� ��		����
� �� ��	� �
�	�� 	�
�	�
���
���
 ��
��� �	��
� 

� ������� ��
���� 

�� �
 ��� 
���
�� �� ��� �
	���������� ������	�� ����
��
�
��
���	�
� ��	��� ��
� �� ���	��
	��

%�

���� ��� ������!� 2
�����
�

 ��

Heff = H0 +
∑

kk′µµ′
Jkk′S ·

(
c†k′µ′

1
2
σµ′muckµ

)
. I(�/.J

$� ��� �����	
��	��� �
�� ��
���	�
� 
�
	 ��� %�	�� �
�	�� �� ����	�

�� 

� �� �
� ���
Jkk′ ∼ J ≡ JkF ,kF

� ���	�

J =
8|tkF σ|α→β|2
Eβ − Eα

. I(�/,J

��� &

� ���	�����
 �� ���

Heff = H0 + JS · s. I(�/DJ
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 ������ ��
������ �� ������ �	��	 �� J

"
 ���� ������
 2���
	��� X����	
��	 
��
���
 �� ����� ���� 
��
���
 �� ��&
�� �� Xp;q =
|p〉〈q|� ���	� |p〉 

� |q〉 
	� ��
��� �
 
 �������� ��� �� �

� �
	����� ��
���� ��� ��
��

�
�����
�� Xp;p 
	� �	�6�����
 ���	
��	� ��	 ��� ��
�� |p〉� '	������ �� ���	
��	� �

 ��
��
�	
����*

Xp;qXp′;q′ = δp′,qXp;q′. I �/J

�� ��
����	 

 ������!� 2
�����
�

 �� ��� ��	�

H =
∑
kσ

εkc
†
kσckσ +

∑
m

EmXmm +
∑

mm′,kk′,σσ′
Jσσ′

mm′Xmm′c†kσck′σ′ , I �.J

���	� Jσσ′
mm′ 
	� ��
�	
����� ����

�� ��
��

��� �� �	����[

H11 + H12 (E − H22)
−1 H21 + H10 (E − H00)

−1 H01

]
ψ1 = Eψ1, I �,J

���	� �����
��� . ��		����
�� �� ��
��� ���� �
� �����	�
 �
 ��� ����	 |δD| ���� �� ���
��
������
 �

�� 4 ��		����
�� �� ��
��� ���� �
� ���� �
 ��� ����	 |δD| ���� �� ��� �

��


� / ��		����
�� �� ��
��� ���� 
� �����
���
� �
 ��� ����� ��
� 
	� ���
� �	
�����!�	�
%�	���	��	�� Hij = PiHPj� ���	� Pi 
	� �	�6����	� �� ��� ��		����
��
� �����
��� i� $���	
���� ������� 
����	
� �� &
� ��
� �� ����
� �	��	 ��� ������
� ��
��

� 
	� ��

��� ��

δJσσ′
mm′ = ρ|δD|

∑
nτ

1

E − D + εk − En − H0
Jτσ

nmJτσ′
nm′−ρ|δD|

∑
nτ

1

E − D − εk′ − En − H0
Jσ′τ

nmJστ
nm′ .

I �DJ
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� 

� ������
� 2
�����
�

� �
 ����	��� ��	�
I��� �!�	 �
!��
����	� kJ �� 
 ��
��
���� 2
�����
�

 �
 ��� �
�	�� ��
�� ��
� �� ���� �

E@G� ��� ��	�!
���
 	������ ������� ��
� �� @��� ,4� ��� �
�
 ����	�
�� �� ��
� " �����
����
�	�� ��� ������ �� 
 �
������
���

� ��
������
 ��


�� ���� 
� 
 ��������
��
� ��
�
�
%�	���	��	�� ��� �
!��
����	 k 	

��� �	�� 0 �� π� ���	�
� �
 ���3 �
�� �����
�
� ��
��� �
!� !����	 	

��� �	�� −π �� π� ��� 2
�����
�

 �� 
 �
������
���

� ��
��������
��
������
 ��
� ���� 
 ������
� ��	� ��

H ′ = Hband + Hc =
∑

k

εkc
†
kµckµ +

∑
k

Vk(c
†
kµdµ + 2���). I��/J

9��	
��	� ck 
	� 
�	�
����� �� ��
� {c†k, ck′} = δk,k′� �� &	�� �� �	�� ����	��� k �� 

��
��
��� k �
 ��� ��

�
	� �
�� F�� ak �� ��� ��
��
��� ���	
��	� 
�	�
����� �� ��
�
{a†

k, ak′} = δ(k − k′)� ��� 	���
����
� 	��� ��	 ���� �!�	 k ��∑
k

→ Nc

π

∫ π

0

dk, I��.J

���	� Nc �� ��� 
����	 �� ����� �
 ��� ��
�
� ��� ���	
��	� ck �	

���	� 
�

ck →
√

π

Nc
ak. I��,J

���� ������� �	�� ��� 	����	���
� ��
�
∑

k,k′{c†k, ck} = Nc ��		����
�� ��
∫

dkdk′{a†
k, ak} =

π� �� ���
�
 ∑
k

εkc
†
kck →

∫
dk εk a†

kak; I��DJ

∑
k

Vkck →
(

Nc

π

)1/2 ∫
dkVkak. I��0J

.04
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E��� �� �
�	����� �
�	�� 	��	���
�
���
 �� ��&
�
� aE = (dE(k)/dk)−1/2ak� ���	� E(k) =
εk� ����� �
3��

{a†
E , aE′} =

(
dE(k)

dk

)−1

δ(k − k′) = δ(E − E ′). I��-J

���� ��!�� ∫
dkεka

†
kak =

∫
dkεk

(
dE(k)

dk

)
a†

EaE =

∫ D

−D

dE E a†
EaE , I��+J



� (
Nc

π

)1/2 ∫
dkVkak I��5J

=

(
Nc

π

)1/2 ∫
dk

(
dE(k)

dk

)1/2

VkaE I��CJ

=

(
Nc

π

)1/2 ∫ D

−D

dE

(
dE(k)

dk

)−1/2

V (E) aE . I��/4J

2�	� D �� ��� �

� ���� I�	 �
����

������J� $� ��� ��
���� �� ��
��� ��	 ���
 ��

ρ(E) =
∑

k

δ(E−E(k)) =
Nc

π

∫
dk δ(E−E(k)) =

Nc

π

∫
dk

δ(k − kE)
dE(k)

dk

=
Nc

π

(
dE(k)

dk

)−1

,

I��//J
�� &

��� ���
�


Hc →
∫ D

−D

dE[ρ(E)]1/2V (E)aE . I��/.J

��� �
�	���	��	���
�
���
 !�	���
 �� H ′ �� ���	���	�

H ′ =

∫ D

−D

dE E a†
EµaEµ +

∫ D

−D

dE[ρ(E)]1/2V (E)(a†
Eµdµ + 2���). I��/,J

"
 E@G �
����
���
� �� �� ������
	� �� ��
��	� 
�� �
�	���� 	��
��!� �� ��� �

� ���� D
�� ��	3�
� �
 ��	�� �� ��� ����
���
���� !
	�
��� ε = E/D 

� ���	
��	� aεµ =

√
DaEµ�

�� 
��� ��&
� ��� ���	����
���
 ��
����
 
� Γ(ε) = πρ(ε)V (ε)2� "� ������ �� 
���� ��
�

�� �
��	�
���
 
���� ��� �
�	�� ����
��
�� �� ��� ��
���� �� ��
��� 

� �� ��� ������
�
V �� ��
�
�
�� �
 ��� ��
����
 Γ 
��
����	 ��� &

� ���	�����
 �� ����

H ′

D
=

∫ 1

−1

dε ε a†
εµaεµ +

∫ 1

−1

dε

(
Γ(ε)

πD

)1/2 (
a†

εµdµ + 2���
)
. I��/DJ

F�� �� ��
����	 ��� ��
���� �� 
 �
������
���

� ��������
��
� ��
�
 ���� �����
� �
	
��
���	 t 

� �����	���
 Ek = −2t cos(k)� ��� �

������ �� D = 2t 

� ��� ��
���� �� ��
���
��

ρ(E) =
Nc

π

1√
D2 − E2

, I��/0J
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�$ �� �	�����	������� �� ���
 ��
 �������� ������������

%�	���	��	�� �� �
3�Hc = −t′
∑

µ(d†
µc1µ+2���)� ��� ��� ������
� ��
����� �� ������ �����
�

�	�� ��� &	�� ���� �� ��� ��
�
 �� ��� ����	��� ����� ��� ���	����
���
 �
�	�� �����
�� 
	�

Vk = −t′
√

2

Nc + 1
sin k. I��/-J

��� ���	����
���
 ��
����
 �� ����

Γ(E) = π

(
Nc

π

1√
D2 − E2

)(
t′2

2

Nc + 1
sin2 k

)
, I��/+J

����� ��	 �
	�� Nc �������
Γ(ε) = Γ0

√
1 − ε2 I��/5J

���	� Γ0 = 2t′2/D = 1
2
(t′/t)2D� "� 
 ��
��� ��

��� ��� �� ������� �� ��� ���� ������

��
��
� ��
�
�� Γ �� ����� 
� �
	��� ���� Γ0/D = (t′/t)2�
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����
���
 ���	
��	 �
�	 c†, c
���� {c†, c} = 1 

� {c, c} = 0 

� {c†, c†} = 0� ����� ���	
��	� ��

 
 ������!�� %��3
��
�� �� ��
� c†|0〉 = |1〉 

� c|1〉 = |0〉� �� ��������� ��� 


����
���
 ���	
��	 c �
 	�
�


� ��
��

	� �
	�� �� ��&
�
�

c ≡ Re c + iIm c ≡ χ + iξ, I%�/J

���	� χ 

� ξ 
	� 	�
�� �
 ��� ��
�� ��
� χ† = χ 

� ξ† = ξ� %	�� ���� �� �������

c† = χ − iξ. I%�.J

��� 

���������
���
 	��
���
� ���
 ��
� �� ξ2 = 1/4� χ2 = 1/4 

� {χ, ξ} = 0�

��� ���	
��	� Ic� c†J 
	� 
����� �� ��

 
 ������!�� %��3 ��
�� �
 ��� �
�� �� �������
��	���
�� F�3������ ���� χ 

� ξ 
��� �� �� �	���
� �� ��
�	
�� 
 ������!�� ��
��� 
 ��
���
	�
� >
6�	


 ��	���
 �� ������ �

 �
�� �� 
�����
��� ���� 
 �	�!�
� ��
������!�� ��
���
��� ����
�	
�� �� 
 ������ ���� N >
6�	


 ����� �� ���� 2[N/2]� ���	� [x] ��
���� ���
�
����	 �
	� �� x�

)��
 ���	
��	� ��	 S = 1/2 �

 
��� �� ���	����� �
 ��	�� �� ��� >
6�	


 ��	���
� a 

�
b*

σx =
b√
2
, σy =

a√
2
, σz = −iab. I%�,J

.0,
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